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2019

ENGLISH
~ Full Marks - 80

Pass Marks - 20

Time : Three hours
The figures in the right hand margin indicate full marks for the questions.

Answer the questions in your own words as far as practicable.

SECTION -A
(READING)

1. Read the following passage and answer the questions that follow :

We do not realize adequately to what extent our minds are moulded by books
we read especially in youth. We have several means by which we acquire
knowledge today i.e. radio,cinema,newspaper and television etc. But reading
of-books is the most ancient and effective of them all. Reading a book is
different from mechanized instruction. We are never alone when we have

books as our companions.

A great writer has said that religion is what man does with his soiitariness. Itis
not merely religicn but art and literature scientific discovery and technological
invention that are the outcome of what a man does with his solitariness. In the
modern world we tend to be gregarious beings. When we have a little leisure

we run to parties, clubs or other social activities. We

Contd.
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are afraid to be alone with ourselves afraid to stand and stare, much less to

sit and think. We are happy with others not with ourselves. Pascal tells us that

the evils of the world arise from the fact that men are unable to sit still in a

room. Reading a book gives us the habit of solitary reflection and true

enjoyment.

(@)

(b)

(©

Complete the following statements :

(i) The best means of acquiring knowledge is

(i) When we have books as our companions

Answer the following questions in one phrase/ sentence each :

(i) Why is reading of books different from several means of
acquiring knowledge like radio, cinema, newspaper and
television ? 1

(ii) What is man by nature ? 1

(iii) What is the cause of evils in the world according to Pascal 71
Answer the following questions in about 50 words : 3
What does the writer tell us about the reading of books and solitariness?

Find out the words from the passage that have the same meaning as :
| 1+1=2

(i) Sociable
(i) Shaped

51 MB 17 E (N) 2 ' Contd.



Instructions to Examiners of H.S.L.C. Examination 2019 16

COURSE BOOK
(PROSE)

2. Answer the following questions in one phrase/ sentence each: 1 x3=3

(@  Why should we plant more trees ? Give one reason.

(b)  Whatis the outcome of human greed and thoughtlessness concerning
rhinos ?

(€) When was the earliest international match of the Polo played ?

3. Answer the following questions in about 30 words each : 2x3=6

(@)  What made Sunita Williams to regard as a woman of many parts?

(b) In what respect is Andro a place of historical importance attracting
tourist ?

(c) Why is creating ‘a safe tourist friendly environment’ important for tourism

industry 7
4, Answer the following questions in about 50words each : 3x2=6
(@)  “I saw that a man of truth must also be a man of care”.

What had happened to M.K.Gandhi that he made this statement ?
Or
What were Ramanujan’s contributions to mathematics which had made
him world famous ?
(b)  “They reached it together, as ateam”.
Why did Colonel John Hunt declare so ?
‘ Or
Why is it said that the Shwedagon Pagoda is a spot where the nation’s

history, politics and religion intersect ?

51 MB 17 E (N) 3 Contd.
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SECTION - B
(WRITING)
5. Write an essay on any one of the following topics in about 200words using
the outlines given : 7

(@) Discipline
[ What it means - the importance in personality development,

relation-ship and success in life - conclusion ]
(b) | Importance of Newspaper.

[ Introduction - how it serves evéryone’s interest - public opinion -

business houses - its role in democracy- conclusion ]

(¢)  Climate Change

[ Introduction - causes and effects - man’s role - conclusion |

6. Jenny of Wino Market of Ukhrul District writes to her sister Mayonao studying
in Modern School, Barakhamba Road,New Delhi to make her aware of the
present day competitivenesé and to work hard to fulfil her dream. 5

Or
You are Sanahal of Thangmeiband Lourung Purel leikai . Write a letter to the
Editor, Hot Tea Daily highlighting the deteriorating standard of living in the
Imphal city by the fast increasing population. Prepare the letter.

7. You are Saijid, a staff reporter of a local daily. You went and collected
information about the fire accident that began from a grocery shop at Thangal
keithel. Prepare a news reporf to be published in your daily in about 100

words. : 4

51 MB 17E (N) 4 Contd.
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8. Make notes of the important points of the following passage and write a
summary using the notes. (Use recognizable abbreviation wherever

necessary) : 3+3=6

One of the best ways to make our writing better is to avoid long sentences. To
see'just how effective this can be, take a look at a top - quality newspaper.
Sentences vary in length but most are short and punchy. Generally, we can tell
from the first sentence what the story is about.

Take another example to know how can we can be clear and concise.
Successful authors captivate their audiences with brief sentences made
interestina with imaginative use of words. Every word that we write should be
there for a reason. Using longer words will make our writing vague. Most people
have a tendency to use certain favourite words all the time e.g. words like
“basically and actually. “Identify such words in our writing. Are they necessary
to the meaning ? Is there a better alternative,or could we gét rid of them
altogether ? '

We all resort to overused phrases such as in a ‘nutshell’, ‘You know’ or ‘the
factis’ Look at these examples and ask yourself whether we are using them
as a concise way to sum up a situation or just out of laziness. Retain them only

if they add to the meaning .

©

You are the Secretary of Students’ Council of Eastern StarAcademy, Imphal
East District. Write a notice informing the students from Class Vil to X to join
Tree Plantation Day on the theme “Go Green,Save Earth “ o be held on the

22" June,2019. The programme is organized by the school authority.

51 MB 17 E (N) 5 Contd.
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10.

11.

12.

13.

14.

SECTION - C
(GRAMMAR)

Rewrite the following sentences inserting appropriate determiners in the
blanks: 1+1=2
The select committee members have now read all of the competition
entries._______entry has received careful consideration. finalist has

produced impressive work in one way or another.

Fill in the blank with correct modal verb of the following : 1
All drivers have adequate insurance.
Change the voice of the following sentences : 7 1+1=2

(@)  Who painted this picture?

(b)  There is said to be bad weather on the way.

Change the narration of the following : 1+1=2

(@) Linthoi said, “Let it rain,l have to go.”

(b) James said, “How can | do such a foolish work ? “

Transform the following sentences as directed : 1+1=2

(a) In case of his failure to return the goods, he must pay the bill.
(Change into complex sentence)

(b)  Only the industrious hope to succeed in life.

(Convert it into a negative sentence without changing the meaning)

51 MB 17E (N) 6 Contd.
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15.

16.

17.

Rewrite the following sentence using the correct form of the verb within bracket:
1

They (sing) when we reached there.
SECTION- D
(LITERATURE)
Answer the following questions in about 30 words each : 2x2=4

(@)  Why did the imp tumn into a labouring man?
Or
“The policeman is a necessary symbol.”
Why does the writer say so ?
(b) “My punishment is just; but oh,God, it is very hard.”
Why is it “very hard” while the Bishop accepted thé punishment as
just” ?
Answer the following questions in 30 words each : 2x3=6
(@) “Nor shall Death brag thou wonder’st in his shade,
When in eternal lines to time thou grow’st;”
Explain the idea. |
Or.
“Nor shall she fail to see
Even in the motions of the storm
Grace that shali mouid the maiden’s form
By silent sympathy.”
What does Nature mean here in the perfect development of beauty
and grace of Lucy ?

51 MB 17 E (N) 7 Contd.
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(b)  “Intothe jaws of Death,
Into the mouth of Hell.”
Explain the imagery.
Or
“And at the corner of the street
A lonely cab - horse steams and stamps.”
What does the poet want to convey in these lines ?
()  “lamapart of joy and a part of sorrow.”
- Explain the part played by flower at the time of joy and sorrow.
Or
“And the frog observed them glitter
With a joy both sweet and bitter.”
Why was the frog’é joy both sweet and bitter ?
18.  Answer the following question in about 120 words : 5
How were M. Hamel and Franz affected by the order from Berlin ?
Or

Describe the behavior of Lady Macbeth in her sleep -walking as observed by
the doctor and the gentlewoman.

19.  Answer the following Questions in about 120 words : 5
Write the character of the Bishop.
Or
Write the theme of the play ‘ The Bishop’s Candlesticks’.

51 MB 17 E (N) 8 -6
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SCORING KEY FORH.S.L.C. EXAMINATION 2019

Subject: ENGLISH

Q.No.

Key

Mark
for
each
point

Total |
Marks

a. (i) reading of books
(i) we are never alone

b. (i) Reading of books is the most ancient and effective
of allthe means of acquiring knowledge, but
reading of books is different from this mechanized
instruction '

(i) Man is gregarious by nature.

(iii) According to Pascal all the evils arise from the fact
that man is afraid to be alone still.

c. The writer tells that the best means to acquire knowledge
is through books. While reading a book one cultivates
the habit of solitary reflection which is otherwise not
possible. In fact in the company of books one is never
alone. Moreover the great works of ar, literature and
scientific discoveries or inventions are the resultsof
solitariness.

d. (i) gregarious |

(i) moulded

10

COURSE BOOK (PROSE)

(@) We should plant more trees in order to reduce
environmental pollution.

or

(consume Cot and give out oxygen and spread out in
the air) etc.

(b) The outcome of human greed and thoughtlessness is
poaching for its valuable valuables horns.

(c) The earliest international Polo match ,vas played in
1886(between England and the U.S.A)
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3

(in about 30 words)

(@) The multi-faceted training and achievement made her
a woman of parts. She was a naval aviator, helicopter
pilot, test pilot, naval diver, swimmer, marathon runner
and an astronaut who became record holder in space
walking.

(b) There is a fire-place at Andro which has been burning
for the last couple of millennium years at the historical
site of the mythical King Panam. There is also a very
big drum.There is also a cultural complex established
by Mutua Museum.

(c) Both the state government and the people should put
efforts to make the prospective tourists feel that Manipur
is a safe destination because no one would like to visit
where safety limit is minimal.

(in about 50 words)

(@) One Saturday M.K. Gandhi had to go from home to
school for gymnastics at 4 O’clock in the afternoon.
Being late, no one was there. Mr. Gimi refused to believe
Gandhi’s explanation of the truth of the matter and
marked absent with the imposition to pay a fine. The
incident deepiy pained him.

or
Ramanujan developed relations between modular
equations. His most outstanding contribution was his
formula for p(n), the number of ‘partitions’ of W. His
development of the ‘Number Theory’ led to major
developments in the topic. He compiled nearly 3900
mathematical theorems and the results.

(b) After the conquest of Everest, Hillary and Tenzing weie
now woridwide heroes and greeted by huge crowds in
India and London. But a controversy over whether Sir
Edmund or Norgay reached the 3 summit first was about
spoil the celebrations. Then Hunt's words put the
controversy to an end.

or
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The Singuttara Hill was the scene of bloody hand-to-
hand fighting during Anglo-Burmese wars in 1800s.
There is also a memorial to eleven student protestors
who, in 1920, demonstrated against the British. On top
of the hill, the Shwedagon Pagoda the holiest of the
Buddhists sits.

5 Write an essay on any one topic:-

Toevaluate: 1. Whether follows outlines 1
2. Knowledge of the topic 2
3. Expression 4
6 Writes the letter:-
1. Format 2
2. Content/Body :- i) Introduction/Beginning
ii) Middle / Main item 1
iii) Conclusion/End 5

3. Expression

7 Writes the report :-

To evaluate :-

1. Heading/ Caption

2. By line - Name, Position of the person writing the report

3. Date and place 2+2

4. Opening paragraph - what happened, where, how -
effect alongwith day, date and time.

5. Paragraph 2/3 etc if there are more details of the event
beingreported, eye witness.

6. Conclusion/ Remark

8 Makes notes:-
Main points:- 1. Better writing:
Sub points:- 1.1. avoid long sentences
1.2. must be short and punchy
2. use meaningful words:
2.1. be clear and concise
2.2. use interesting with imaginative words
2.3. use only necessary / meaningful words
3. avoid over used phrases
3.1. retain only if necessary
3.2. use as concise way tosumup a
situation

3+3
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Writes summary
or

The other form of making notes i.e. in broken line is
acceptable.

Write Notice:-
1. Format
2. ContentTo

Evaluate:- 1. Name of org./Inst./office

The word ‘Notice’ /" Notification’

Date

Heading

Purpose of writing

Details (date, time, venue deviation etc.)
Signature / name / designation

Nookswd

SECTION - C (GRAMMAR)

10

The select committee members have now read all of the
competition entries. Every entry has received careful
consideration. Each finalist has produced impressive work
in one way or another.

1+1

11

All drivers must have adequate insurance.

12

(a) Who was this picture painted by?
Or
By whom was this picture painted?
(b) They/People say there is bad weather on the way.

13

(a) Linthoi persisted that she did not care for the rain and
she had to go.
Or
Linthoi determinately said that she had to go eveniif it
rained.

(b) James thought/wondered how he could do such a foolish
work.

14

(a) If he does not return the goods, he must pay the bill.
(b) None but the industrious hope to succeed in life.

15

They were singing when we reached there.

—t | ok b | b
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16.

SECTION - D (LITERATURE)

(in about 30 words)

(a) The imp turned himself into a labouring man so that the
peasant should take him to service. Then he could
become a friend and bring confidence to the peasantto
lead him to make sin.

Or

Men have become highly civilized beings but the society

_is not free from crime and violence. The presence of
police reminds people law and order and the punishment
thereof for the offenders.

(b) The Bishop accepted that for being proud of those candle
sticks he was punished. In spite of the realization/
acceptance, it was hard to bear the loss because they
symbolized his mother and were objects of
remembrance of his mother.

17

(in about 30 words)

(a) The poet says that Death shall not talk boastfully when
his friend is dead because his poem will make his friend
live again leaving Death powerless. '

Or

The motions of the storm are free and wild and so is the
life of Lucy. When the storm is over, everything looks
clear and silent. There is grace in the calmness and that
will influence Lucy’s maiden form.

(b) The imagery is of a huge animal with big jaws or mouth
opening wide tc eat or swallow those coming towards
him/it. It shows that the Light Brigade were sure to meet/
face horrible condition/end.

Or
The ‘Cab-horse standing’ alone in the cold and rainy
evening portrays the drab, cheerless and unpleasant
conditions that the workers/wage earners in industrial
city had to bear to eamn their livings. It shows unpleasant,
hardship of life.
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(c) Flowers are the wordiess expressions beyond words of
human feelings/thoughts of joy and sadness. li/she
expresses love as lover’s gift, joy of union as marriage-
wreath and reminds moment of happiness. [t/she
expresses sadness/sorrows by offering to the dear
departed one:

Or

The frog’s joy was sweet as he was earning a lotin the
form of ticket money from the creatures and it was bitter
as the same creatures who hated his voice readily/
willingly paid to listen to the nightingale’s song.

18

Answer the following question in about 120 words:-

Two French speaking districts of Alsace and Lorrain - under
German occupation - imposed German language - hurt the
pride of the people. M. Hamel broke the news - declared
his last lesson in French - a new master would replace.
Aroused patriotic feelings in students, village elders - spoke
at length about French language- expressed his dismay as
people were indifferent to learning - called upon to
guard, never forget it - key to unity, liberation.Everyone
listened with rapt attention and respect.

Or

Lady Macbeth utterly worn out - no rest, no sleep - doctor’s
effort useless. Doctor and gentle woman observed - third
night Lady Macbeth woke up in her sleep - took candle -
was walking - eyes open, senses shut - washed her hands
- talked to Macbeth {as if he was there) about Hell - fear,
biood and its smeli - to wash and put on night gown - about
Banquo. Took candle - said ‘To bed, tobed’ - "knocking at
the gate’ etc - her mind’ burdened with the weight of her
remorse/qguilt - filled with ceaseless horror/fear and anxiety.
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19.

Answer the following question in about 120 words:-

Blessed by God, an ideal priest - always at the service of
those who need him. Kind, generous and charitable, the
Bishop cannot bear to see anyone in pain and suffering.
He is sacrificing, all embracing - sells possessions to help
others - upholds the church and blessings of the Almighty
- helps reclaim sinned and battered souls and shows the
path of redemption.

Or

The play is based on the theme that circumstances mould
the life of men. The convict was a good man - compelled
him to steal as wife dying and no food, work arrested -
tried - sent to ten years’ imprisonment - turned into a beast.
Where apathetic society turns one in to a criminal, it is
love and kindness and empathy that can reclaim a man.
No healing touch from anyone but found in the Bishop
convicts repents, believes in the goodness of human
beings. The Bishop shows new light to the convict. Also
shows that love, compassion, understanding can turn a
convict in to goodmen, not harsh punishment.
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2019
ADDITIONAL ENGLISH
Full Marks - 80
Pass Marks - 20
Time : Three hours
Attempt all questions.

The figures in the right hand margin indicate full marks for the question.
Answer the questions in your own words as far as practicable.

SECTION -A
(POETRY)
1 Explain the following extract with reference to the context : ‘ 6

(@)  Oblessed bird | the earth we pace
Again appears to be
An unsubstantial, fairy place,
That is fit home for thee !
Or
(b) But, oh! of all delightful sound,
Of evening or of morn,
The sweetest is the voice of love
That welcomes his return.

Contd.
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2, Answer the following questions in one senience each 1X3=3
(a) What does the ‘Worldly task’ mean by the poet?
(b) Why does the stream feel about the voiceless things?
(c) When did Indian Weavers weave a dead man’s funeral shroud-?

3. Answer the following questions in about 30 words each : .2x3=6
(a)  Whatdoes the poet H.W. Longfellow wish us to do in the battle of life ?
{b) How does the stream wear out the strength of the rocks and bouiders?

{c) Why are Golden Lads and Girls compared with the Chimney Sweepers

?
4. Answer the following questions in about 100 words : 5

(a) How does the poem ‘Indian Weaver’ express the life of man from birth

todeath ?
Or

(b) How does Longfellow say in his poem that life is not an empty dream

but a reality 7

51 MB 32 e (N) 2 Contd.
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SECTION - B
(PROSE)
Explain the following extract with reference to the context : 6
(a) “| know that God is neither in Heaven nor down below, but in

éverywhere, be he a Hindu, a Mushalman, a Parsi, a Christian man or

woman”.
Or

(b) “So he would chide us if we merely mourn. That is a poor way of doing

homage to him”.
Answer the following questions in one sentence each : 1 x3=3
(a) Which country regarded malaria as a curse ?

(b) Name the appointed place where the two friends are to meet after

twenty years ?
(¢) Who designed the ‘Analytical Engine’?
Answer the following questions in about 30 words each : 2x3=6
(a) Why did the intruder come to Gerrard’s house?
(b) Why did Ronald Ross meet Mansion in London ?

(c) What according to the author, are the various uses of computers in our

routine activities ?

51 MB 32 e (N) 3 ' Contd.
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8. Answer the following questions in about 100 words : 5

(@) ‘Nehru says that Gandhiji has been greater in his death’. Describe the
greatness of Gandhiji.

Or

(b)  Relate in brief how Ronald Ross discovered that anopheles was the

carrier of the germs of malaria.

SECTION - C
(READING)

9. Read the following passage and answer the questions that follow :

ideas and economic conditions make revolutions)Foolish people in
authority, biind to everything that does not fit in with their ideas, imagine that
revolutions are caused by agitators. Agitators are people who are discontented
with existing conditions and desire a change and work for it. Every revolutionary
period has its full supply of them; they are themselves the outcome of the
ferment and dissatisfaction that exist. But tens and thousands of people not
move to action merely at the bidding of an agitator. Most people desire security
above everything; they do not want to risk losing what they have got. But when
economic conditions are such that their day-to-day suffering grows and life
becomes an almost intolerable burden, then even the weak are prepared to
take risk. It is then that they listen to the voice of the agitator who seems to
show them the way out of their misery.

51 MB 32 e (N) 4 Contd.
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(@) Answer the foliowing questions in one word/ phrase/ sentence each:
(i) What do people in authority imagine ? 1
(i)  What makes revolutions ? 1
(b) Answer the following questions in about 30 words each :

(i) Why don’t people move to action at the bidding of an
agitator ? 2

(i) Why do people listen to agitator ? 2

(©) Pick out the word from the passage having the same meaning as :

(i) result or consequence 1
(i) State of being protected 1
SECTION - D
(WRITING)

10.  Complete the following dialogue with appropriate words/ phrases according

to the context : 1x5=5
Tom: HelloHarry! _ _ ________ ?

Harry: Fine, thanks. What a pleasant surprise !

Tom: Itsalongtime _ _ _ _ ___ we met. Where all these years ?

Harry : In Delhi, now

51 MB 32 e (N) 5 Contd.
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1.

12.

13.

14.

Tom: I’'malso fine, tellme _ _ now-a-days ?
Harry: In Hotel Imphal.

Tom: _______ will you stay here ?

Harry : Only for a week.

You are the Secretary of your local club. Write a notice for circulation
among the club members asking them to take part in the observance of

‘National Cleanliness Day’. 3

Give arguments for and against the given topic in about 90 -100 words : 5

“Co-Education System”

Prepare a brief news report on the market scene on the eve of Ningol

Chakouba or Christmas festival. sign yourself as Smith. 5
Write a precis of the following and give a suitable title : 7

Why is this increase in population taking place ? It is due the spread of
knowledge and practice of whatis célled Death Control. Death Control includes
the work of the doctors and nurses and the hospitals and health services in
keeping alive people who, a few years ago would have died of some killing
diseases. Today, medical examinations at school catch diseases early and

ensure healthier school children, Scientists are at work stamping

51 MB 32 e (N) 6 Contd.
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out malaria and other more deadly diseases. Medical care today keeps
people longer. We used to think seventy was a good age; now eighty,
ninety, it may be, are coming to be recognised as a normal age for

human beings. People are living longer because of this Death Control.

15.  You are Samson, General Secretary of Paradise High School. Write a
letter to the Principal of your school asking him for postponement of the

half yearly examination of your school. Give reasons for same. 7
Or

Suppose the washing machine you bought recently from Nidhi Enterprise
does not work properly. Write a letter of complaint to the firm to check it

or replace it with a new one. Put your name as Mr. Singson.

51 M3 32 e (N) 7 G
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Subject: ADDITIONAL ENGLISH

SCORING KEY FOR H.S.L.C. EXAMINATION 2019

Q.No.

Key

Mark
for
each
point

Total
Marks

()

(b)

Context: To the Cuckoo by W. Wordsworth

Cuckoo’s song wanders for one hill to another — the
poet looks through the woods and the green- can’t be
seen — the birth seems to enjoy the blessing of God.

Or
Context: Traveler’s Return by R. Southey

The traveler enjoy different songs — Skylark’s in the
morning —swift wind at noon — flowing river water at
afternoon — But the sweetest is the welcoming voice
for his dearest at his home

2

(a)

(©

God’s given duty to man.
Will not last long
In the moonlight chill

1x3

(@)

()

fight like a hero —like soldiers fighting in the battlefield
—not as a timid.
the constant flow of the stream carried away all the

rocks and boulders - their strength will be worn out at
last.

Rich and poor will die one day — no difference in the
body of the golden lads and chimney sweepers.

2x3

@)

The poem centres round the life of man from birth to
death — weavers weave according to the time of the
day — that is different stage of life — different colours
for the new born — for marriage — for funeral.

Or
Shoid act in the living present — not bother about pat —

not to dream about future — continuous activities will
bear fruit.

(6]}
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5

()

(b)

Context: The need for Religion by M.K. Gandhi

God can be seen through the service to humanity — God

is everywhere — God is always in man whether heiaa
Hindu, a Mussalaman or a Parsi

Or
Context: A Glory has departed by J.N. Nehru

Mahatama died for his country — instead of crying we
should try to follow his ideal — Gandhiji would not like
his followers to mourn his death — wants to follow the
path he had shown to the Indians.

2+4

(a)
(b)
(€)

Greece and Rome
Big Joe Brady’s Restaurant
Charles Babbage

1x3

()
(b)

He was hunted for killing a policeman — wanted to kill
Gerrad and steal his identity.

Ross knew Manson also doing research on Malaria —
wanted to know his theories on Malaria.

(c) Journey tickets — payments of bills — diagnosis of

diseases

2x3

(a)

Gandhiji faced many sufferings during the freedom

‘struggle — Every Indian knew his sacrifice — he was

assassinated — millions mourned his death — greater
in his death.

Or

Ross, a medical officer in India working on Malaria
for 4 years — discovered Some cells of mosquitos had
pigments of Malaria parasites — found only the female

(ii)
(b)
(i)

anopheles as the carrier of the germ.

that revolutions are caused by agitators
Ideas and economic conditions make revolutions

People do not move to action at the bidding of an action
because most desire security above everything. They
do not want to risk losing what they have got.
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Content

(i) When economic conditions cause sufferings and 2
intolerable, the weak ones are prepared to take risks.
Then they listen to the voice of the agitators.
()
(i) Outcome 1
(i) security 1
10 | cosesis How are you
....... Since
......... how about
........ where are you staying 1%5
........ how long
11 Circular/ Notice Writing 3
12 Argument writing (equal mark distribution for merits and
demerits) 5
13 Report Writing:
Format £
Content 3
14 The problem of rapid increase in population is due to death
control. it means high birth rate, low death rate and longer
life span. Thanks to early detection of deadly diseases
together with improved medical and health care facilities.
Consequently, not seventy or eighty but ninety has been S
regarded as normal age for human Beings. 2
Title: Increase of life span/Death Control etc.
15 Letter Writing: 2
Format 5
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2019
MATHEMATICS
Full Marks - 80
Pass Marks - 20
Time : Three hours
Attempt all questions.

The figures in the right hand margin indicate full marks for the questions.

1. For any natural number m, the digital root of 7" cannot be : 1
ne Txefms AT mofo Tk ©xsr, 7" m digital root T REMO! TxE
11 :
(A) 1
(B) 4
(C) 6
by 7

2. The pair of linear equations ax +byy +c,=0andax+by+c,=0isa
dependent pair if : 1

Rl Cras WPRR, a x+by+c, =0andax+b,y +c,=0A%% linear
equation & @f depedent 5% $%k TS :

w e
o i3
o 2

Contd.
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3. The 15™ term of an AP exceeds the 22™ term by 35 ; the common difference
ofthe AP is: 1
AP wrmf 15 3 termt 220¥ term ®if 35 z°3ef; AP wam common
difference mx miofef
(A -5
B) 5
) -7
b)) 7

4. The coordinates of the point which divides theline segment joining the points
(x,,y,) and (x,, y,) internally in the ration of m: nare : 1

(X, ¥,) GROW (X, y,) %% Wresolfn owfees &5 mmwm mn T
eolw's, weor RErmR Wsesml coordinate ofm wxmwlofel :

(A) (mxz + 11X, ’my2+ny1)
m+n m+n
(B) (mx1 + X, ) my, + Ny, )
m+n m+n
(C) (mx2 = nx , my, — ny, )
m-n m+n
(D) m"1‘nx1’m}’2'n}’1)
m-n m-n
5. The circumference of a circle 168 cm. If the sectorial angle of a sector of the
circle is 1209, then the length of arc of the sectorincmiis : 1

Circle wwml circumference 168 cmef il Circle @olnd sector wwmd sectorial
angle 120° ©'resal sector wold arc @l wows cm & "EW ol :

(A) 55
(B) 656
(C) 54
(D) 57

51 MB 18 M (N) 2 . Contd.
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6.

10.

11

12.

13.

Write the nature of the roots of the quadratic equation

ax? + bx + ¢ = 0 when its discriminant is negative 1

ax? + bx + ¢ = 0 %% qyadratic euqation“®fmf discriminant @a negative
THE weRR RO root ofmmf we'm ms® »% ||

The nth term of an AP is 5 - 3n. Can the sequence be an AP ? 1
Sequence WK n ™3 $#a® 5-3ntf I Sequence Tl AP G55 REg ?
What is meant by a secant of a circle ? 1
Circle wwm! secant @k A%zml mWefse ? |

The sides of a triangle are 11 mm, 60mm and 61 mm. State whether the
triangle is a right triangle or not.

Triangle @R side ofm® 11 mm, 60 mm GRQW 61 mm dwWs I Triangle

wof right triangle T Téga™ THEe AR |

Write a Pythagorean relation between the trigonometric ratios sec A
andtanA. 1

sec ATRMM tan ABX%E trigonometric ratio wefrf wmems 'cg Pythagorean
relation @k %3¢ |

Find the value of tan35° tan45° tan55°. 1
tan35° tand5° tan55° f mfmeeyt s s |

Write the formula for the total surface area of a frustum of a cone using usual
notations. 1

#tsl wwe ofzfecre cone wwml frustum wwd wmes surface area T
formula %2 1

When are events of a random experiment said to be mutually exlusive ?1

Random experiment wwm! event ofn mews wewx nutually exclusive @'xse®
ARTRT ?

51 MB 18 M (N) 3 Contd.
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14,

15.

16.

17.

18.

Let P(x) be any polynomial of degree > 1 and let a be any real number. If P(x)
is divided by the linear by the linear by the linear polynomial x - a, prove that
the remainder is P(a). 2
P(x) @mf degree > 1 @53 polynomial Tkel TROW a T real number el
gof 1| P(x) m x-a A%%¥ linear polynomial @wmft wese e wsR P(a) T%
AXS WARE * |

s_

If X2+ px + q and x® + rx + s are both divisible by x - a, show thata = o

sS—

Q

X2+ PX + q TROW X2 + X + S GRS X - a € ey Rasa, a =

©
=4

=¥ |

If a be the first term and d be the common difference of an AP. Show that the
n"termofthe Apis givenbya =a+(n-1)d. 2

AP um TAEs $a® a GROD common difference d Trersal AP wrrf
nMs $a% TR a =a+(n-1)domwe wf THF w42 |

If «, B are the roots of 2x? - 5x +1 1 = 0, find the value of %+§. 2
2x2-5x+11=0 ™ root™im o,3 Trasal %+%m’ ofiesn T T |

A solid metallic hemisphere of diameter 28 cm. is melted and recast into
number of cones each of radius 7 cm and height 16 cm. Find the number of
cones so formed. 2
Diameter 28 cm. @xs Wgm ETF I#m hemisphere Gk V$TAI2° TAT
WRERRE radius 7 cm TROD TRAWIT 16 cm TXE cone @R T we A'E* |
WORE *FE cone ofmmd ®ofm WIS |

51 MB 18 M (N) 4 Contd.
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19,

20.

21.

22.

23.

24.

Factorise : 3
Factorise & :

a?(b + c) + b?(c+a) + c?(a+b) + 2abc

For any positive intergal number n show that n(n +1) (n + b) is divisible
by 6. 3

nwof Txelms positive integer Tk wxas® n(n +1) (n + b) weof 6T wTs
RE AKX W4T |
Solve graphically : 3

Graph mf wmem solve s :

2X+y=8

X-3y+3=0
Prove that the intercept of a tangent between two parallel tangents to a circle
subtends a right angle at the centre. 3

Circle Wwmf parallel @'%e¥ tangent Wefe WM tangent GRam EIIE4NT
REM (intercept) @aT circle #wl centre ® right angle Ok rRl A%F
marke & |

Calculate the values of trigonometric ratios of 45°. 3

45° W trigonometric ratio ofmml ofmem wz'ms |

If three straight lines are drawn on a white board at random with the eyes

closed, show that the probability of forming a triangle is % 3

White board GRa ®f% srofier xfmefns oo &% XK THF XTUsal

®X%C triangle ©& wsW probability woof % ol A%e W4e |

51 MB 18 M (N) 5 Contd.
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25.

26.

27

28.

If x, y are any real numbers and d, positive real number prove that
Ix-yl<difanyonlyify-d<x<y+d. 4

X,y € @xefms real number ofm wkeom d € positive real number @ s/
WERE ¥ :
Ix-yl<d & y-d<x<y+d

A motor boat whose speed is 15 km/hr in still water takes 1 hour longer to go
36 km upstream than to return downstream to the same spot. Find the speed
of the stream. 4

wers sofme Tsr RusT™ Xm 15 km/hr ©%8 motor boat kR BxteImd
RRTS 36 km 2 CI4IIRE, KT K&'KCC AT RERR T semweaEm 1 hour
ZCC ®PF B | FRATW T WA Xm TS s |

Or/essam

In an auditorium, the seats are so arranged that there are 10 seats in the first
row, 13 seats in the second, 16 seats in the third etc. thereby increasing the
number of seats by 3 every dnext row. If there are 64 seats in the last row, how
many rows of seats are there in the auditorium ? Also find the total number of
seats in the auditorium.

Auditorium TkR EREROMD T3Wf R ™, TATF We-ms EweR 10, TEfo)s
e~m® EWER 13, GARMS A DR EFEF 16 TS TRC WD XR(DR ERER
ROMD 3 Z°TT4T T5 | WelTFs TRHE MaDR ERef 64 zasal auditorium
WRR YMEC ERER eem @w dmel | Auditorium TRR T¥ TWMES EREROITND

METE |
Find the area of a triangle ABC with vertices A(x,,y,), B(x,,y,) and
C(x,,Ys,)- 4
A(x,,y,), B(x,y,) Tmoom C(x,y,) € vertex ™fm ©'ss triangle ABC f area
T TS
State and prove Basic Proportionality Theorem. 5

Basic Proportionality Theorem ™f Re’y %% ©ROm WMawe ¥ |

51 MB 18 M (N) 5 Contd.
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29.

30.

Or/espam

If a perpendicular is drawn from the vertex of the right angle of a right triangle

to the hypotenuse, prove that the triangles on each side of the perpendiculars
are similar to the whole triangle and to each other.

Right triangle ww right angle smf vertex s perpendicular @& hypotenuse
® xfwezal, perpendicular #f 2w wefmmrs 2'afs triangle wefa wwm
TR TROD triangle RWFRTC similar @5e® Axe make ¢ |

Construct a triangle similar to a given triangle ABC with its sides equal to 3

of the corresponding sides of the triangle ABC. Write the steps of construction.
2+3=5

oy triangle ABC m similar @'s8 ratio » RCI® RRRWS || construction
™ wPmofm %5 |

Or/ugam

Divide a given line segment AB internally in the ratio 4 : 3. Write the steps of
construction.

T3 &5 REW AB 3 4:3 A%F ratio ® RCO® RBRWMS I construction m
wSmefm %% |

The pilot of an aeroplane observes that the angle of depression of a kilometer
stone on a straight road on a borizontal ground is 30° when his aeroplane is
at particular altitude. When he increases the altitude by 300m the angle of
depression of the next kilometer stone is 60°. Find the altitude of the
aeroplance when the first cbservation is made. 5

Aeroplane wa pilot @re ®if aeroplane Taz WEWITE altitude WKx
&'afdl'® horizontal Wrs &msr Ciws ews! Tra 23 kilometer stone TR
angle of depression g 30° A%¢ &% I Fe &Nl altitude W& 300m
ZEm4R T8 kilometer stone @amt angle ofdepression TR 60°TH |
TATF RWE AW R¥wR &'F aeroplane wam altitude TR Wz ms |

51 MB 18 M (N) 7 Contd.
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31.  Acone of height H, is divided into two parts by a plane through the mi-point of
the axis of the cone and parallel to the base. Find the ratio of curved surface
area of the conical part to that of the frustum. 6

H w8 cone Gk, m1! axis @l WRX ENF ©KRMU base ® parallel ©'ss
plane TRt mamr wel TWE OFRDS | cone REG T OET TR THTE
Fmeml area It frustum ™ wE'Es SRAW aream™ WHEE ratio ® T TH I

32.  Find the mean, median and mode of the following distribution : 6

wex mlefs distribution wofmf mean, median @wRmm mode mgz‘m".i .

Class 20-40 | 40-60 | 60-80 | 80-100 | 100-120 |120-140 |140-160|160-180 | 180-200
Freguency| 6 9 1 14 22 13 10 8 7

51 MB 18 M (N) 8 <6



Instructions to Examiners of H.S.L.C. Examination 2019 47
SCORING KEY FOR H.S.L.C. EXAMINATION 2019
Subject: MATHEMATICS
Q.No. Key Mark | Total
for | Marks
each
point
1 C 1 1
2 D 1 1
3 A 1 1
4 A 1 1
5 B 1 1
6 The roots are not real. 1 1
7 Yes, itisan AP, 1 1
8 A straight line which intersects a circle at two distinct
points is called a secant of the circle. 1 1
9. Yes, the triangle is right triangle. (e.g. 612 602 =121=112) 1 1
10 Sec’A—tan’A=1 1 1
11 tan35°tan45°tan55° = tan3s X]xm”(gou _35,) 1 1
= tan35° xcot35' =1
12 Total S.A. = ni(r +r, )+ nr? +nr? 1 1
13 Events are said to be mutually exclusive if the happening of
one forecloses the happening of all others. | 1
14 Suppose that when p(x) is divided by x - a, the quotient is
q(x) and the constant remainder is R. Then
p(x)=(x-a)q(x)+R 1
Since this is true for all values of x, putting x= a we have, 2
p(a)=(a-a)q(a)+R=R 1
R = p(a)
15 Here,x - aisafactorofboth x*+px+q and x*+rx+s
a*+pa+q=0 and a*+ra+s=0 1
(p-r)a+q-s=0 2
= (p-rla=s-q 1
= &= —

p-r




Instructions to Examiners of H.S.L.C. Examination 2019

48

16 The A.P., with first term @ and common different dis :
a, a+d, a+2d, a+3d.....
Here. a :a:a+(i—1)d
a, =a+d=a+Q2-1)d
az=a+2d=a+(@3-1)d
....................... & soon
Looking at the pattern, we see that @, =a+ (1~ 1)d
17 Here «,p be the roots of 2x*—5x+1=0

5 1
== and of=—
a+p Z B 5

two parallel tangents 4P, BQ
touching the circle at A, B respectively
and a third tangent PQ touching

the circle at C and intersecting

AP, QB at Pand Q respectively.

25 1
o, Bp_o’+p’ _(@+p)-200_ 4 21
B « aff off 1 2
2
18 Here, V be the volume of the solid metallic hemisphere of
diameter 28cm them
3
W = 2EE =§Trxl4x14><14
And v be the volume of a cone of radius 7cm and
height 16cm then :
v = l'rcrzh =—l-m<7><7x16
3 3
% nx14x14x14
. Required no. of cones = Sl T T =7
19 Textbook 3.4
MY B crrienphenmmnonenennde
21 Graph of 2x + y =8
Graph of x -3y +3
Point of intersection P(3,2) ..x=3, y=2
22 Given : A circle with centre O,
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23

25
26

24

To prove : /POQ =90’
Construction : Join 04, 0B, OC

Proof : Since PA||QB, therefore AB is a diameter of the
circlesothat ~40B = astraightangle = 180°............ (1)
In triangles OAP and OCP,
ZOAP = ZOCP =90°
OP =0P (common)
04=0C  (radius of same circle)
By RHS congruence,
AOAP = AOCP
ZPOA=£POC= /1 (say)
Similarly it can be shown that ZQOB = £00C = /2 (say)
Now, equation (i) gives

L1+ 21+ £2+ £2 =180°

e L1+ £2=90°

= ZPOC+ £00C =90°
= © ZPOQ =90°
Book article 10.5 (a)

..........................

Book article 1.5 listed property (6)
Speed of the motor boat in still water = 15 km/hr
Let the speed of the stream be x km/hr
Upstream speed of the motor boat = 15— x km/hr
Downstream speed of the motor boat = 15+ x km/hr
By the given condition,
3% 36 _, -
15-x 15+x
36(15+x)-36(15—x)=15% - x
72x=15% - x*
x% +72x =152

x% +2x.36+36% =362 +152
(x+36F =32(12% +57)=3? x132

x+36 =39 (ngelecting inadmissible - ve square root)
= x=3

i.e. speed of the stream = 3 km/hr.

b Uy

1

1+1+1
3
1+1+1+1

1

w
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27
28
29
30

Or
The number of seats in the successive rows of seats in the
auditorium form the finite AP
10, 13, 16, .iesrsinene , 64
Here, a = 10, d =3 and [ = 64
If # be the number of rows of seats, then
a+(@n- 1)d=1
=  10+3(r-1)=64
= n=19
i.e. no. of rows of seat=19
Total number of seats =10+13+16.......... + 64

= %(a+l)

= %(10+64)= 703

Book article 11.3
Book theorems

Book constructions
60° it
— - P
30
h
0° 60° s
A B x (a]

Let P and Q are the positions of the aeroplane when

the first and second observations are made.

Then, PQ =300m

Let OP= h where O is the point on the ground vertically
below P.

Let A and B be the two consecutive kilometer stones on
the straight road.

Then, 4B =1000m

Iet OB=x




Instruction to Examiners of H.S.L.C. Examination 2019

51

Them from the rt. AOAP

h
x+1000

h
x+1000=
- tan30°

tan30° =

= LN R 1)) ER @)
And from the rt. AOBQ

= x= Rl e (>i1)
From (i) and (ii)

Gh=" 139 1000

343
= (\/5— : Jh = {003 +1000)

3

S

‘ 3-1
—= |h=100%/3 +10
- %) )

= h=50(3+1)3
= h=506++3)

31 LetR, H, L be the radius, height and slant
height of the whole cone and let 7, 4, / be
those of the smaller cone cut off so that
H=2h (given)

Using properties of similar triangles,
(A4BC ~ AADE ) we have

~ | =

Sl .
o == B e sessssiingermsanasesesinss i
= @)

Curved surface area of the whole cone = TR L
Curved surface area of the smaller cone = ©r!
- Curved surface area of the frustum = t(RL-r1)
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. . nrl
Required ratio . _—n(RL—rl)
_ rl
T RL-rl
x rl
T 2r2l-rl
ri . .
= (using (1) )
_ 1
-3
= 123
32 From the given data, we form the following table :
Class Mid | Frequency |Cum. =10 | c,
value f Freq. |“~ 20 ‘
xi
20-40 30 6 6 -4 —-24
40 - 60 50 9 15 =3 —27
60 — 80 70 11 26 — 2 -22
80-100 90 14 40 -1 - 14
100 - 120 110 22 62 0 0
120 - 140 130 13 75 1 13
140 - 160 150 10 85 2 20
160 - 180 170 | 8 93 3 24
180 - 200 190 7 100 4 28
N =100 =2
Mean, x=a+hu = 110420x—= = 110-04 = 109.6
100
Since, % = 50 lies between the cumulative frequencies
40 and 62.
Therefore, 100 - 120 is the median class.
' Median = 100+ 502_240 x20 = 109.09
Model classis 100-120 with f,, =22, f,=14 f,=13
22-14
Mode - 100+—44—l4-13)<20 = 107.06
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Total number of printed pages - 8 51 MB 19 Sc (N)

2019
SCIENCE
Full Marks - 80
Pass Marks - 20
Time : Three hours
Attempt all questions.

The figures in the right hand margin indicate full marks for the questions.

SECTION - A
(CHEMISTRY)
Marks - 26
Answer Question Nos. 1 to 4 in a sentence, a word or a phrase

or an equation.
1. Whydo He, molecules not exist ? ‘ 1
He, R efmmfme! mefmf 2'pafs’ ?
2. Why do ionic compounds conduct electricity in molten state (4

Croeir mRRseroine! offrsvesal sewpall WETY ENRC XTE
Jl ARl malrfe ?

3. Urine sample of a patient was found to contain excess of uric acid. What will
be the pH range of this urine sample ? 1

ws oEH RO of sNelr Tofr @ ee 7w meee || 7o wofnf
pH®t Xm oof mafc Trs "sw ?

Contd.
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4,

Write the reaction between agueous solutions of sodium hydroxide and acetic
acid. 1

FofR PHEE ORRE ARRETORR TROD TSI Tofz ool sfecesn
wremn efemoes w |
Answer Question Nos. 5 to 8 in about 30 words.

Nitrogen (At. No. 7) and phosphorus (At. No.15) belong to the same group of
periodic table.

Using the usual symbols describe how N will combine with P to form a simplest
compound. Give the name of the compound. ' 2

orga’zE (At. No.7) GRom E'mEs (At. No. 15) ©of weafwalr sz
reye wrRr mee &l N TRom P sfegem ows EXRAT TXES ERTLSCR
TR maRe ©rammel AR50l mREC x Ty offterr STW|  EETNSCR
oaf wRin mefe'll

How are the following pairs of compounds related ? 2
wrn Wlefs mwmwcar ceofmm! mef kel Jesme ?

() CH,. CHOH.CH, and CH,CH,CH,OH

(i) CH,.CH=CH.CH,and CH,.CH=CH,

Draw a neat labelled diagram for the electrolytic refining of impure Nickel
indicating the electrolytic bath to be used. 2
omws thEed weewgg erofoml RHUT OIRTETE TTD TR clmsle
RWer WRiD I TROU kar offcerdals sewrgednd TR STw |

General formula for a homologous series of compounds is C_H, . COOH.
Write the chemical formula of the first member of the series. What product will
be obtained when this compound is treated with sodium metal ? 2
AR THE momserofom! ceey Eaweé @f CH,_ COOH f Il

n 2n+1

TACT BRISTR EewRe Al mhmweer ool o meIr sfecer el
Ewel

51 MB 19 Sc (N) 2 Contd.
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10.

11.

12.

Answer Question Nos. 9 to 11 in about 60 words.

Show the classification of the first twenty elements (at. no.1 to 20) in
accordance with the Modern Periodic Table. 3

orRr oese 1 el 20 BT RefReesolfmn Rane el i s-3m
wemsee ofcrRmm TR Srw

With the help of a suitable example, describe the general method used for
the extraction of metals of low activity from its concentrated ore. 3

CUsfsl TeRs mie Ok OmRmTes Tary QUR T TTD TR
XT¥ RFF ORT & HCC OTRTE $T |

Starting from sodium chloride, briefly describe the preparation of sodium
hydroxide and baking soda. : 3

e meesr ofzfetem ORRE AREE TORR TROD FIEm OR
HERC ODIT ARFR ORSWE R |

Answer question No. 12 in about 100 words.

lllustrate the following reactions with suitable examples. 5
o el moeoino! XeE ERFT S ACC SEW
(i) Oxidation reaction
T roiroe afomoe
(i)  Thermal decomposition reaction
Po BE55 TACE 8l T
(iii)  Exothermic reaction

o iz emm el mome

51 MB 19 Sc (N) 3 . Contd.
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13.

14.

15.

16.

(iv)  Double displacement reaction
757 dimerores efoemoe
(v) Enzyme catalyzed reaction

WEIHC ®eWN RmE T meme

SECTION -B
(PHYSICS)
Marks - 26
Answer Question Nos. 13 to 16 in a word or a sentence each.
What is electromagnetic induction ? 1

eTeg RTesr serroe 550l mafe’ ?

State Fleming’s right hand rule. 1
EeRimm a%4 zeafm! i w1 |

You are provided a resistor, a voltmeter; a battery and a key. Draw an electric

circuit using the given components, that may be used to measure the potential
difference across the resistor. 1

zler gozloes Gk, TIHR#e O, el Ok TRl @l owT wlae |
Arals wRTOMme! ofdfeceae seergalim mm TR TS || R
geziopenrd wee wefand Weeenlny afeaTom Tesr ofzfees R sef
I

Draw a ray diagram of formation of image for an object placed in front of a
convex mirror. 1

HCTTM REe TR RRIR TR WK CErl mRl orrsrd g A5Taw msi|

51 MB 19 Sc (N) 4 Contd.
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Answer Question Nos. 17 to 20 in about 30 words each.

17.

18.

19.

20.

21.

22.

A wire of 7 € /m is turned-in the form of a circle of diameter 2m. Find the
resistance across the ends of the diameter. 2

7Q/m % e TR ARERE 2m T OETI TR meoee || asweeanmd
wife wefr &'mas evzfoseo @Rt msos |

Explain giving reason why the sky appears blue to an observer from the surface
of the earth ? 2

mefsf3fmf S'mun &' ®f ThRe TRRO! 3z EXHT wafs ol kew Tiae
oeRTe 5 |

What are two merits of using wind energy ? 2

nfen weee! ofdfees™t wWees wefs mefe ?
Give any four characteristics of a good source of energy.

wes reael EERM mmTofoe weoe mefEmr k5w )

Answer Question No. 21 to 23 in about 50 words.

Mention three advantages ofA.C over D.C. 3
AC.tD.C. al ZTC XRWRI TAF WART HR ||

An electric heater marked 1200 w operates 3 hours/day in a house. What will

be the cost of energy to operate it for 5 days at Rs. 2.00 per unit of energy ?
3

8200 w 3% rcwealrml #fee TR CmRr Mm & ™ XOR REF TRR
ofzfed’ll xeazi? wwefs ¢ = e 8.00 wfsml cwis eef ofzfeesr o=
BR XTRre ?

51 MB 19 Sc (N) 5 | Contd.
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23.

24.

25.

26.

27.

28.

What is critical angle ? State the conditions of total internal reflection of
light? 1+2=3

mefslms oy Assel mefe’ 7 I #'p7 wepard  BTES IO
ot re@e ©xs EfzRofmr %7

Answer Question No. 24 in about 100 words.

Describe the working of an electric motor by indicating the role played by the
different parts used to construct the same. 5

sergglr FeE TRe B3 Omdme XelE oguolme Fefs szoofn o
swec wewRs ® FIT AN oerme 5% |

SECTION-C

(BIOLOGY)

Marks - 28

Answer Question Nos. 25 to 28 in one sentence
What s a reflex action ? 1

algeme wwoe wafe' Srw S

Which organ is called the gustatory organ ? 1
mews Cener towss! Cere wlIT ?
Define food chain. 1

Gr X¢ BRRE EEIr $Tw |

“Apart from providing oxygen, trees also help in the purification of air in many
cities.” Justify the statement by giving one point. 1

ootz WETW aFsR tise wonwEsfolic oReT meid ome
mmﬁmmﬁmﬂgpﬂﬁmm‘m«m’nﬂqn

51 MB 19 Sc (N) 8 Contd.
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29,

30.

31.

32.

33.

34.

Answer Question nos. 29 to 33 in about 30 words.

Describe briefly the process of budding in the yeast. 2

rfodnr W45z IRafom @ orame smw

Name the hormones responsible for the puberty in males and females.
1+1=2

TRl Okl gwfofor m3es! zr5es seweoimn mal mafc w2

Give two significance of transpiration. 2

sgeomfame meer wefrr s |

Differentiate between renewable resources and non-renewable resources with
suitable examples. 2

TIUAET RF W4HOMT CIIATE REE IRl mal ReTTIT Xaw
SOWIRFT 2°%5CC Surs |

Draw a neat diagram of longitudinal section of a flower and label ovary, style
and stigma. 1491 =9

sg-sees &M FmRETY omomerd OUSF Tk mewer @real, opne
okl opfrrm! crofm ow |

Answer Question Nos. 34 to 36 in about 50 words.

How can the flowering piants be propagated without using seed? Predict
two advantages of such type of propagation. 3

&' o¥m mEsfofmn we ofcfcere mewe TS WFsl RROM ORI
R ? GoOMmEs WHsfoMn PFMENE SR THaT B3 Wees ol
b= ]

51 MB 19 Sc (N) 7 Contd.
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35. Explain the role of decomposers in an ecosystem. 3
s olsr TRr REmweofme maf RO 73T $os

36. ldentify how deforestation leads to many far reaching consequences ? Give
three points. 3

% BUCIMWT FF EECH TXC TR TP BERC ITATIT ? NREH
oaFR Wl |

Answer Question No. 37 in about 100 words.

37.  Explain the evidence of evolution from comparative anatomy and morphology.
5

Fleoer WRREss CTER TRl FRaEe il e cerTe sUs

51 MB 19 Sc (N) 8 -C
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SCORING KEY FOR H.S.L.C. EXAMINATION 2019

Subject : Chemistry
Q.No. Key Mark | Total
for | Marks
each
point
1 He has complete K shell which cannot receive or donate
electrons. 1 1
2 | Ions became free from each other in the molten state. 1 1
3 Urine is highly acidic/acidic and PH range will be below 7. 1 1
4 NaOH(aq)+ CH ;COOH(aq)— CH ;COONa(aq)+H ,0 1 1
5 or N —:—'P or PN 1
Phosphorus Nitride | '
6 @  Position isomers/structural isomers 1
(i) Homologues 1 2
7 Drawing 1
Labelling 1 2
8 HCOOH / CH ,COOH 1
Sodium formate/methanoate, HCOONa / CH ;COONa 1 2
9 GROUPS
I 2 | 13] 14 1s] 16 ] 17 | 18
2| rpd 'y 4
% pd Py e P [ Pe | v %0 [F '
4" Pd ng 2% a
Correct number of group numbering 1
Correct number of periods 1
Correct arrangement 1 3
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10

11

12

Sulphides and oxides of such metals can be reduced by
heat alone.

e.g.

2HgS(s)+30,(g) —"““—>2HgO(s) + 250,(g)
2HgO(s)—"“—2Hg(1)+0,(g)

NaOH can be prepared by the electrolysis of aqueous NaCl
Solution.
2Nacl(aq)+2H ,0(1) —=""® 5 2NaOH(aq) + Cl,(g) +H (g)

Baking soda or Sodium bicarbonate is obtained by bubbling
carbon dioxide in a saturated solution of NaCI which contain

ammonia.

NaCl+H,0 +CO, + NH,——> NaHCO, + NH ,Cl

@)

(ii)

iii)

(iv)

)

If a substance gains oxygen during a reaction it is
called an oxidation reaction.

Or Any definition of oxidation with an example.
Decomposition of a substance on heating.

€.g8. CaCO,(s)—“>CaO(s)+CO,(g)
Exothermic reactions release heat energy.

¢.8.CH,(g)+20,(g)—>CO,(g)+ 2H,0(g) + Heat

Exchange of ions between the reactants generally

leading to the formation of a precipitate.

e.g. AgNO,(aq) + HCl(aq) —— AgCl{s)+ HNO,(aq)

Any reaction catalyzed by enzymes

e.g. C,H,,0, + H,0—"“¢ 5 C.H 0, +C,H,,0,
Sucrose Glucose Fructose
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R=n rx7;2—72x7 B Te
Resistance of the second semi circle,

R2=7trx7=372—x7=229

63
SCORING KEY FOR H.S.L.C. EXAMINATION 2019
Subject: Physics
Q.No. Key Mark | Total
for | Marks
each
point
13 | The relative motion between a magnet and a coil can génerate 1 1
| electric current in the coil. The phenomenonis called electromagnetic
induction. ' ;
14 | Stretch the thumb, forefinger and middle finger of therighthandso | 1 1
that they are | to each other. Then
The thumb directs along motion of conductor
The forefinger indicates the direction of magnetic field.
The middle finger indicates the direction of induced current.
R
15 L i 1 1
. (V- lK
14
+1 -
B
1 L
16
I e
Object Kimage F C
Resistance of the first semi circle,
17 Y
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18

19

20
21

22

23

24

Using the relation

1

i s S LU SO

=
=5

1 1 1 2 |
+ Q
R, 22 2 2 11

“R,=11Q

() Sunlight reaches the Earth’s atmosphere and is scattered in all
directions by the gases and particles in the air

(i) Bluelightis scattered more than the other colours because it
has the shortest wavelength.

That is why the sky appears blue to an observer from the surface

of the Earth.

The 2 merits of using wind energy are
(i) Itis anenvironment friendly effort.
(i) Norecurring expenses for energy production required.

Any four characteristics of a good source of energy

(i) Voltage of AC can be stepped up or down with the help of a
transformer.

(i) Energy lossinlong distance transmission can be minimized.

@iii) AC can be converted into DC easily.

Total energy consumed in S5days = Power x time
=1200W x 34, xSday
=18000Wh

Total cost =Rs.(18x2 )= Rs.36

Definition of Critical angle

(i) 1%condition
(i) 2"Ccondition

Explanation of working of electric motor

[ [

[
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SCORING KEY FORH.S.L.C. EXAMINATION 2019
Subject : Biology
Q.No. Key Mark | Total
for | Marks
each
point
25 Involuntary sudden action in response to something in the 1 1
environment is called the reflex action.
26 Tongue is called gustatory organ 1 1
27 Itis referred as transfer of energy (food) from the producer through 1 1
aseries of consumers.
28 Plants absorb and assimilate the pollutants which provide oxygen 1 1
by the process of photosynthesis.
29 Yeast cell forms a small bud into which cytoplasm and a nucleus 2 )
pass which remains attached initially to the parent cell. Eventually
it get separated from the parent body to grow into a new individual.
30 Hormone responsible for puberty in males - testosterone.
Hormone responsible for the puberty in females - Oestrogen 1
1 2
31 (1) Ithelpsin the absorption and movement of water and minerals
dissolved in it from the roots to the leaves. 1
() Italsohelpsin temperature regulation
1 2
32 Renewable resources — These are inexhaustible resources and
can be regenerated within a given span of time. Examples are 1
forest, wildlife, wind energy, tidal energy, hydro power, solar
energy etc.
Non-renewable resources — These are resources which cannot
be regenerated. Examples are coal, petroleum, minerals etc. 1 2
33 Drawing of L.S. of a flower and labeling 141 2
34 Vegetative propagation is the formation of new plants from the

units of vegetative body such as roots, stems, leaves and buds
etc.Advantages :
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36

(i)  Artificial propagation is successfully performed in plants like
rose, orange, grapes, sugarcane, banana, jasmine eic.

(i) Plants raised through vegetative propagation are the exact
replica of the parent.

(i) Decomposers break down the dead bodies and thus
become agents for decay

() The materials in the dead bodies are converted into organic
and inorganic substances.

(i) They make the soil fertile and make these substances for
the producers.

Any three :

(i) theexistence of many wildlife species are threatened due to
the destruction of their natural habitat. '

(i) Rainfallis affected due to changes in hydrological cycle

@) Problems of soil erosion and loss of soil fertility increase

(iv) Inhilly areas deforestation leads to landslides

Comparative anatomy :

Homologous organs -

(i)  The organs which have the same fundamentals structure
but are different in functions are called homologous organs.
Examples, forelimbs of human, front flipper of whale, a
forelimb of sheep
In plants a thorn of Bougainvillea or a tendril of cucurbita
both arising in the axillary position

(i) Homologous organ indicates common ancestry

(i) Thestudy of homologous organs reveal divergent evolution.
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Analogous organs —

(iv) The organs which have similar functions but are different in
their structural details and origin are called analogous organs.

(v) Examples —the wings of an insect are analogous to wings
of abirds Thorns (in Duranta), spines (in opuntia) and
Prickles (in rose)

(vi) The analogous structures are the result of convergent

evolution

(Any three from comparative account)

Morphological study :

(1)  From the study of fossils, one can understand about the life
forms of the past.

(i) Italsoenables to trace the origin and trend of evolution of
several groups of plants and animals.

(iii) fossils that we find closer to the surface are more recent

than the fossils that we find in deeper layers. (Any two
from the morphological study).

1%3

1x2
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Total number of printed pages - 8 51 MB 20 S/Sc (N)

2019
SOCIAL SCIENCE

Full Marks - 80
Pass Marks - 20
Time : Three hours

The figures in the right hand margin indicate full marks for the questions.

SECTION -A
(GEOGRAPHY)
Marks - 27
Answer Question Nos. | and 2 in a sentence each.

1. Why does the Himalayan region have no large reserves of economically viable
mineral resources? 1
AmesTd cHERR F-ZRM THC Weeras TX'F xoff serofm S'eafs
mefrat ?

2. Why is terrorism regarded as a man-made disaster ? 1

mafmlamr pa'afzis xerw! #fZose ©F Txe Jafse ?

Answer Question Nos. 3 to 5 in about20 words each.

3. Organic farming has been taken up widely today in India. Justify the
statement with two points of support. 2

Tareir Eawfm ©of el dass o oee ks | Rerol XF%
Azl yxes wef® mire fors |

Contd.
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4.

10.

Mention the two most important cereal crops of Manipur. 2
wefmem! et Rewsy xfeuw! w3'-me'm wofz mafc’ sos |
Give two points of difference between Mumbai Port and Kochi Portin respect
of location and size. 2
we® wel wmfae Mumbai wwal Kochi #fzmer wefmf 3&F el Stm—
xwsf cwr d'afs »cex or sow |
Draw a full page outline map of India and mark and label therein the
following :

The Vishakapatnam Steel Plant 1+1 =2
TRE FCT Ta4El B UK T TROD KRR Tlafsol REF STee s4el

nfoxmseek opfy WSEL

Answer Question Nos. 7 to 70 in about 50 words each :
Explain any three benefits that we obtain directly and indirectly

from forests. 3

TRRe WA TWere TR CEReT £'3 BTTy GANT REw IeRme
1]

Suggest any three measures which would be helpful for the conservation of
water resources. 3

sofor cer’ mesr mem GHTAE TR TR mawr s |

Explain three main problems that are being faced by Indian farmers in

agricultural sector. 3

Hegml Fwfome Fs-oflms e RR'Teals RaT'ss e seF TF OTRTe

s |
Why is it necessary to adopt a sustainable path of energy resources
development and conservation in India ? 3

Teds Oms! SEOMIE, R4 TROD R ITR4WR TEsET Efsh o IaTae
XE® W MEwes cwsl Tk R wr safs wefrfe ?

51 MB 20 S/Sc (N) 2 Contd.
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11.

12,

13.

14.

Answer Question No. 11in about 120 words.
Explain any five factors that have led to the localisation of jute industry in and
around Hugli basin. 5
ma® md e Hugli seeant dw-md omed Rugud TERR E(RE
sereovpg! @R mme dofvetad mawR oeRme 55 1
Or/ e¥sam
Explain five factors which are responsible for shifting of sugar industry towards
south india. ' 5
xfefit xereosgel ¥ HasewR AURT RETHS REW Fall TIRT OERTT
»E
SECTION - B
(HISTORY)
Marks - 27
Answer Question Nos. 12 to 15 in about 50 words each.
In what ways did the liberalism bring changes in France since the French
Revolution ? 3
Sgem 372 ™ RenR ggToR SfEa-ElART HMEWS KO TR TA T8 AT 5Tl
Write three important results of the Revolution of 1848 in France. 3
sefoxm! @Rl Se2¢ 37T EFEM® T UATT RET XS EI CARRT 7!
“A real test of the Patriotism of the Congress was on the question of the partition
of Bengal in 1905.” Justify the statement by giving three points.
3
“gaford mrofm S20¢ ® TITIE RARWREW (Partition of Bengal) ReR
wrr wrgeom’ REST ChmsT omsRg wome Xoem FEf W

RER GAFRET WfRC ReR ©of XE5 B%F w4e ||

51 MB 20 S/Sc (N) 3 Contd.
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=

19,

16.

17.

18.

Write the ill effects brought by the Second World War to Manipur. 3
ymetsisin ooy dedwe wehmen swaesls TR TR Evofme 5%

Onthe mép of India drawn as answer to Question No.6 (of Geography portion),

locate the places with name where : 2
(a)  General Dyer fired on the crowd in 1918,
(b) Mahatma Gandhi broke the Salt law.s

A7 v: ¢ | (of Geography protion) YEwXE WHe RWeE JesmEl w TRE
wEETolin @l $TRs REFOMET BTe w42

(@) wafosm! mEofm S$Se R zoTEed RRAT AR STERR TOR'
mmofexzi

(b) wAwm werfc zFr! @Rt IEERE
Answer Question Nos 77 to 19 in about 30 words each.

illustrate how the free -trade theories of Adam Smith overshadowed the
mercantilist theories in England and other countries of the west in the middie
of the nineteenth century. 2

wefoxnd Qemy WA-RWml ®RE RTEF ogue reer wWrRl TmTEl
o mm ST rolor oRr onfdml see-nefme x4 sfwefersm! T'ofsmfme
Remeeselzand Toofsmhay wRl owsexl ARsol mwem xee Smsl

What prohibitions were imposed to the Indian press by promulgation of the
Indian Press (Emergengy Powers) Actin 1931. 2

werfooxmt 300 8588 R FEART E~e Osmamere! WOlew) Ty Sss et
seRinRe yreeoofmr mews wifmsefm mfxfzsme |

51 MB 20 S/Sc (N) 4 Contd.
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19.

20.

ey

22.

Explain why it is said that Chinese and Japanese writings are on all types of
literature ? 2

oafgRnd wxY ErfODwTe Xiefc ©rom Zwefzofme ksl Axeafsof
oerme STw

Answer Question Nos. 20 and 21 in one sentence each.

Why was Gandhiji not satisfied with the outcome of the Second Round Table
Conference, 1931 ? 1

xafosrf mrofm Seasm wrfms gwen s37 mWeeaeom’ EI0MDRR
rerfmfc wmefrf weexfFse °

Why was Germany called the most affected country in the First World War
? Give one point. 1
zewele afslsinf wAes dedwm Einsemf »ee o'mwl Axafst ?

Answer Question No. 22 in about 120 words.

State the consequences of the Great Economic crisis of 1929 - 1939 on
England. 5

zafoxmf mroMm Segemm! 2252 ENFR I WRME TXE OF-TFM AT T
TAT % STR THACRE afgwoolfmr %% ||

Or/c4¥pam

How did the industrialization in England and India affect handicraft industries
of India ? 5

XeTR TROWD Nese seropg! efmxsemmd x'meve kY wawe Aessum
4T oome WUKT T WE T Reropals o'TAERsT |

51 MB 20 S/Sc (N) 5 Contd.
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23.

24.

25.

26.

27.

SECTION - C
(POLITICAL SCIENCE)
Marks -13
Answer Question Nos. 23 to 25 in a sentence each.

Explain the influence of caste consideration at the time of formation of Council
of Ministers. 1

BSeofI WE Welops oFs kerr c4-mxmd @osm) Rer weesm
®sfm 2T

Suggest one measure for improvement of working of the Manipur State
Commission for women. 1
RCE o4 WRRIOT EE NREH I¥T WER ATT EM4TS WK TR
ME WS |

Identify one main difference between public interest group and sectional
interest group among pressure groups. 1

maeme mEnofon! wmems el REsaems TE WROD  PIOT
REPEeME TEM WefTf ReTs we CHE XTCF TR RO Swg |

Answer Question No. 26 in about 30 words.

Analyse the reason for declaring India as a Union of States deliberately
avoiding the word ‘federation’. 2

T, TSHTT EREOT ARE RA' Rwsere Szpolmmt noine B awelzm
®EE T

Answer Question No. 27 in about 50 words.
State three advantages of political decentralisation or Panchayati Raj. 3

ek errf ShmwwEml cipaT mMeRnRe! gl RRURE GARR w

51 MB 20 S/Sc (N) 6 Contd.
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28.

29.

30.

31.

32.

Answer Question No. 28 in about 100 words.
Explain five main advantages by which we can prove that a democratic
Government is better than the alternative ones. 5
TosTaT TN Gee $T smeofmant 5 2l AR W4 TREW KT
ERURE Rl orwe $Ts |
SECTION -D
(ECONOMICS)
Marks -13
Answer Question Nos. 29 to 31 in a sentence each.
What are the various components of Gross National Income for providing
more accurate picture of many developing countries ? 1
RuRkemels FTTOMIE ATC U FOT STTHHRRT TE0 CIOTNT
RCER AHWR RS WD TR Rorofn on el mefe ?
Define Human Developmént Index. 1
nme FramRTs Rerrom TEE JOT XT Ax
Point out the undesirable outcomes of the import substituting industrialization
strategy during the Five Year plans of India. 1
Aeqm! Al FoM TED RCOR W WCKTT SR Wofil KT Te
ofefere wpew Rux'Aees SICWC TWAICUR'E WERE R TR
mene sos |
Answer Question No. 32 in about 30 words.
Analyse how the Indo - Myanmar Border Trade Agreement as apart of Act
East Policy shall transform the economy of the North Eastern states including
Manipur. | ' 2
AekmEl T REE T3P CTEeTn (@ 58 wefol) T oamr TR
Ore reRwiReRe save gaewml Rnese wehme W8t GRD-TDWT
Aewmt Szolnm! TRl WeRe TATS WETWT | X REe $ow |

51 MB 20 S/Sc (N)  § Contd.
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Answer Question No. 33 in about 50 words.

33.  ldentify the changes that have taken place with economic development in the
phase of Primary, Secondary and Tertiary sectors in National Income.

3

el ©wmes W4 TEl WCOR OC-ZEFTf SRR RSRASTNT & ke
e sral, omere! TROD saofRel omseofnmf ogms » memrmr!
RO TR S$Tw |

Answer Question No. 34 in about 100 words.

34.  Which bank is the Central Bank of India? Explain any four important functions
performed by the Central Bank of India. 1+4=5

BEFS FOUC Te¥mEl (TPEeY FTUT TE KRR WHIM® ? (rCga 3 W
TE FEHAT MUL TN RE THE KL KAl REFR OCTRTC STS |

51 MB 20 S/Sc (N) 8 -6
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Subject: SOCIAL SCIENCE (GEOGRAPHY)

SCORING KEY FOR H.S.L.C. EXAMINATION 2019

Q.No. Key Mark | Total
for |Marks
each
point
1 Because of its complex geological structures 1 1
2 Because terrorists deliberately act mass murder by carrying
el . . 1 1
out suicide attacks, firings and bomb explosions.
3 () In organic farming, crops are raised without use of
factory made chemicals such as fertilisers and
insecticides. Hence, it does not spoil the physical| 1
environment. o
(ii) The products of this type of farming are in greatdemand |
ininternational market.
4 (i) Rice is the mostimportant staple food crop of Manipur
which is grown in both the hills and the plains 1
(ii) Maize is the second most important food crop which is <
* mainly grown in the hills. It is also growninthe plainsas | 4
a part of kitchen gardening.
o) Mumbai Port Kochi Port
(i) Itislocated in Maharashtra. (l) Itis located in Kerala. 1
(ii) Itis the largest sea port (i) It lies at the opening
of the country and has a of a lagoon and has 2
well sheltered and large a natural harbor with 1
natural harbor. deep water.
6 (i) Drawing of the full page outline map of India with correct| 4
shape 5
(i) Showing and iabellingThe Vishakhapatnam Steel plant| 1
7 (i) Direct benefits: Wide variety commodities such as
timber,firewood, woodpulp, medicinal plants etc. and 1
other produces of industrial and commercial uses are
obtained directly from forests.
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(ii) Indirect benefits:

(a) forests help in checking soil erosion and air poliution
as they help to recreate the quality of air that we breathe,
the water we drink, the soil with which we produce our
food crops.

(b) They provide natural habitat to a variety of wildlife without
which man cannot survive.

Measures to be suggested:

(i) To make and implement effective laws and policies for
utilisation and sharing of surface water resources

(i) To adopt effective measures of water conservation with
the uses of water saving technologies and methods.

(iii) Attempts should also should be made to prevent water
pollution. '

(iv)To encourage to take up watershed management,
rainwater harvesting, water recycling and reuse
methods. (Any three out of the above points)

1+1+1

(i) International Competition is very high in international
market in quality and price of their products since
foreign farmers seli their products at cheaper
rates.

(ii) The cost of production of agricuitural items has been
increased since the government has reduced
investment inirrigation, power, rural roads, market and
mechanization and subsidy on fertilisers.

(iii) There is surplus flow of foreign agricultural products
into the country due to reduction of import duties.

10

Reasons :

() The need and consumption of energy resources in all
the economic sectors such as agriculture, industry,
transpoit, commerce, domestic etc. is increasing day
by day since it is the basic requirement in them.
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(i) As the result, India has become large consumers and
imports of mineral fuels like coal, petroleum, natural gas
etc.

(iii) As the current rate of consumption, the known reserves
of energy resources of the country will last only for 30-
40 years.

11

Reasons for the concentration of jute mills in the Hugli basin
are:

(i) Nearness to the jute growing areas.

(i) Inexpensive water transport with a good network of
roadways and railways.

(iii) Availabity of ample water for retting the jute.
(iv) Availability of cheap labourers and facilities of port.

(v) Banking and insurance provided by Kolkata

Or

(i) The yield per hectare of sugarcane is high in south India.

(ii) The sucrose content in sugarcane is also higher than of
northern India.

(il Temperature in the range of 20°C to 30°C between |

January and April is Ideal for sugarcane cultivation in
the south.

(iv) In Utter Pradesh - Bihar belt sugarcane is produced by
small cultivators but in the south sugarcane plantation
are well established.

(v) The Co - operatives are more successful in the southem
states.
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SCORING KEY FOR H.S.L.C. EXAMINATION 2019
Subject: SOCIAL SCIENCE (HISTORY)

Q.No. Key Mark
for
each
point

Total
Marks

12 | Any three or any relevant answer(s) : 1+1+1
i.  end of autocracy, clerical privileges,

ii. aconstitutional and representative form of government
iii. freedom of the markets

iv. the abolition of the state imposed restrictions

13 | Anythree or any relevant answer(s):

i.  Louis Philippe abdicated the throne and fled to England |1+1+1

ii. National Assembly convened in May

iii. monarchy was abolished and declared France a
Republic

iv. Suffrage granted to male adults above 21 years

v. Jobs were guaranteed, and national workshops were
setup

vi. Republican constitution was proclaimed in November,
with an elected president.

vii. Louis Napoleon was elected as President

14 | Any three or any relevant answer(s):

i.  The Partition of Bengal in 1905 was anti Congress
move ofLord Curzon. 1+1+1

ii. This plan was an anti-v'Congress political move
engineered by Lord Curzon.

iii. Itaroused a strong anti-British sentiment in many parts
of India.

iv. The protest movement took the form of boycott of
foreign goods and adoption of Indian goods.

v. This was known as the Swadeshi movement
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had restricted grain imports for several centuries.

Consequently, the British market was flooded with the
cheap American grains and it hurt the British farmers
to a great extent.

As England was more interested in developing more
competitive industries, the repeal of these laws helped
in the growth of British economic condition much better.

Other countries of the West gradually began to repeal
the high tariffs and legal barriers which had long
restricted trade.

15 | Anythree or any relevant answer(s) : 1+1+1
i) The bombing caused a lot of civilian casualty.
ii) The civiladministration of the state ceased to function.
iii) The town was deserted, the traders and other
inhabitants fled to the hills and rural areas.
iv) The offices of the state government began to function
at Kwakeithel, a suburb of the capital in the house of
the Inspector of Police, Khomdram Dhanachandra
Singh.The Johnstone High School started running at
Khagempalli atthe house of the headmaster.
vi. The socio-economic condition had deteriorated.
vii. There was crop failure
viii. The people had to survive from the rations given by the
government.
ix A large number of people were evacuated to
accommodate the army.
x. The price of rice shot up as the paddy was to be
supplied to the army,
xi. Livestock were exhausted.
16 |a) Jallian Walla Bagh /Amritsar
b) Dandi 1+1
17 | Any two or any relevant answer(s) :
i.  Great Britain repealed the ‘Corn Laws” in 1846, which| 1+1
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18

This Act prohibited newspapers to publish of matter
inciting to or encouraging murder or violence.

Act also curbed publication of any kind of Congress
propaganda including messages from persons
arrested or jailed

1+1

19

Any two or any relevant answer(s) :

i.
ii.

iii.
iv.

Confucian Classics & Shintoism
novels

revolutionary writings

history & poety

1+1

20

Any one or any relevant answer(s) :

Conference was deadlocked on minority issues,
separate electorate for Muslim, depressed classes and
Indian Christians. :

21

Any one or any relevant answer(s) :

Germany had to pay fifty million pounds to the Allies as
preliminary reparation amount by May 1921.

Germany had to manage for doing so by taking loan
from the USA.

The German economy was almost collapsed in
managing to pay the reparation amount.

22

Any five or any relevant answer(s) :

Due to the Great Depression, England could not
continue to lead the industrial production.

The British monopoly in industry and trade came to a
deteriorating situation.

Underdeveloped countries (Asia, Africa and South
America) which in the pre-war period took loans from
Britain for their development activities, were now
starting to rely on their own economic resources.

In September, 1931 Britain went off the ‘gold standard’.

This led to the massive withdrawal of foreign deposits
from Britain.

1+1+1

+1+1
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22

Or

Any five or any relevant answer(s):

i)

vii)

The trade policy of England sought to promote the
interests ofBritish producers and traders only at the
expense of India’sproduct and traders.

In order to check the flow of Indian products most of
the handicraft products at that time, the British
government imposed heavy duties on Indian goods
entering into Britain.

British goods were allowed free entry to India. ( “Free
Trade” policy adopted by the colonial Government ).

As a result there were few buyers of Indian goods which
became costlier.

On the other hand cheap British goods swamped
Indian markets.

Indian goods manufactured with traditional tools could
notcompete with British products manufactured on a
mass scalewith modern machines.

The introduction of modern industries in India led to
newmethods of producing machines replacing manual
labour andhand-operated toals.

viii) Industrialisation in India also displaced the highly

ix)

X)

individualisticnature of handicraft production.

Consequently Indian handicraft industries which were
onceflourishing industries gradually declined.

This led to a large scale unemployment problem in India.

1+1+1

+1+1
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SCORING KEY FOR H.S.L.C. EXAMINATION 2019
Subject: SOCIAL SCIENCE (POLITICAL SICEINCE)

Q.No.

Key

Mark
for
each
point

Total
Marks

23

Caste considerations are always taken into account at the
time of ministry formation. Every chief minister tries to
ensure proper representation of dominant castes in the
formation of Council of ministers

24

Either enough power or adequate fund may be suggested.

25

Sectional interest groups work for the members of their
section only while Public interest group works for the whole
society. :

26

() The word federation was deliberately avoided by the
framers of Indian constitution because of diversity of
India in many respects.

(i) They did not like the power of secession of constituent
states from the Union which would be given by
federation.

27

Advantages of Political Decentralization or local
Government:

() People have better knowledge of problems of their
localities -Problems and issues are best settled at local
level

(i) They know the needs of their locality and can manage
things more effectively

(iii) possible for the people to directly participate in
decision making - habit of democratic participation.

28

We can say democracy is better because it:

(i) promotes equality among citizens - no difference
between high and low - rich and poor,equality being
an ideal of democracy

1x5
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(i) enhances the dignity of individuals -the passion for
respect and freedom are the basis of democracy.

(iii) improves the quality of decision making - decisions
are taken after due discussion and deliberation.

(iv) provides a method to resolve conflicts - by peaceful
negotiation on tables.

(v) allows room to correct mistakes - the representatives
who arenot responsible may be given defeat in
elections and they get the chance of correcting their
mistakes.

(vi) majority of the people support democracy against
other alternatives being the most popular government.

(vii) Democracy is the most legitimate and responsible
government because rulers are elected by the people.

(any five points may be explained)
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SCORING KEY FOR H.S.L.C. EXAMINATION 2019

Subject: SOCIAL SCIENCE (ECONOMIC)

Q.No. Key Mark | Total
for |Marks
each
point
29 Gross National income includes Gross Domestic Product,
remittance and foreign assistance income for providing
a more accurate economic picture of many developing 1 1
countries. '
30 Human Development Index (HDi) is a composite index that
measure the progress of the economic development in the 1 1
threebasic dimensions - a long and healthy life, access to
knowledge and a decent standard of living.
31 The undesirable outcomes of the import substituting
industrialization strategy during the Five Year Plans of india
are failure to produce rapid growth, self- reliance, eradication 1 1
of poverty and a perennial precarious balance of payments.
32 ()  The Indo Myanmar Boarder Agreement under the India’s
Act East Policy under scores the need to promote trade i
of North -Eastern States including Manipur with South
East Asian Countries. o
(i)  The access to bigger markets and improved connectivity
may turn out to be the missing driver of growth in this 1
region.
a3 ()  The Indian economy has experienced an improvement in
theshare of industry and service sectors in the overall
GDP. 1
(i) In the beginning , it was the primary sector which 1 3
contributed most to GDP.
(i) Since the 1980s the service sector has occupied a| 1
dominant position in the composition of GDP.
34 Reserve Bank of India which was established in 1935 is the
Central Bank of India.Functions of Central Bank of India are: 1
()  Central Bank of India (RBI) is the sole authority for the
issue of currency in India other than one rupee notes and
coins.
(i) It acts as banker to the Government - both Central and| 1 4
State. ;

(iiiy It is banker’s bank and their supervisor.
(iv) It promotes commercial bank.
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SOCIAL SCIENCE (GEOGRAPHY & HISTORY)
QNO.6& 16
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Totat number of printed pages - 7 51 MB 21 HSc (N)

2019
HOME SCIENCE
Full Marks - 80
Pass Marks - 20
Time : Three hours

The figures in the right hand margin indicates full marks for the questions.
1. Which nutrients provide satiety value? 1

wmew WERE &R ©XF XEIWT IECY WOIACE ESATET ?
2. Define the term Resource. 1

wio'emml Rzes T mefc $Tw |
3. . Whydo we wear clothes ?

w'rse mafrf efe’s oeefse ?
4, Cite the types of stock. 1

o'l kRolme sTw |
5. When should you plan fluid diet ?

WEFT WPFR TADT WAl UHF Xleiw g A ?

Contd.



Instructions to Examiners of H.S.L.C. Examination 2019 88

6. Children enjoy to recite rhyme with movement. 1
A. Eye
B Hand
G Bodily
D Leg
TOIofIe &%F IR g'ms Wl ||
A i
B. X4
C. 7mxm
D. =m
7. Money used for buying different items and services for the family is known
as . 1
A. Realincome

B. Expenditure
C. Family income
D. Excess income

semef et Eer TROD Rexn $Er ofders Mo

Axe ®e
A. Qorms Wi
1@ i)

el R

O 0 W

WATE XN

51 MB 21 HSc (N) 2 Contd.
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8. While drying, coloured garments should be turned inside to
retain colour. 1
A. Out
B. h
C. Back
D. Up
WX ™'cs &l BACER EMf WX ROACE ®em TTE TSe
Emasel |
A RIME
B. wRTm
C. wsm
D. WRD

2] Play materials for 2 - 3 years of age is ’ 1
A. Ladder

B. Plastic block

C. Wooden or Plastic Vehicle

D. Magnet

%A & — & Wamm! deewms of
A. ®EET

B. wmEosfmr &

C. =l gypam meosimmf weaf

D. w4xsf

51 MB 21 HSc (N) 3 Contd.
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10.

1.

12.

13.

A consumer should select items that give utility and
satisfaction. 1
A Limited

B. Average

C. Good

D. Maximum

offeees w4 el KITS THE Bees TROD eeefis T 5s

W4— Rolm werasel |
A  TEICE

B. RRRT RN

C. TET

D. ERRRM AT

lllustrate any two harmful effects on children who spend much time listening to
the radio. 2

E$E Omr aRC $IC THOOfmR CRIUS TR Crme ST
What is a food guide ? 2
q wrrml AsCsT @wete ?

How will you store fruits and vegetables for longer period ? 2

APE ST TRCSTRRD CATC RE ROMD ORom A &Y mawe cfrel?

51 MB 21 HSc (N) 4 Contd.
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14.

15.

16.

17.

18.

19.

20.

Mention any four social qualities which are developed through games. 2
oer-%4es MEs'e ol miefsl remaesn mef® kR fww |
Point out the differences between pamphlet and leaflet.

wereg$® efegesmn’ ¥eeesofm sos |

Draw a neat diagram of sleeve -board. 2
ofes Terml ®ReT 33 RAUER TR RUS

Write any three steps to betaken to minimize unpleasant emotions during
childhood. 3

T CrHahl'n ECHETN CTHLOKPE K37 ATIACCE R4 RE TURE
warn w7

You want to iron a silk saree. Write the correct method of ironing it. 3

came oferml Kef Tk sope! sTmmw Wree || /R 5opal smme TRES
oo %

Differentiate between current account and fixed deposit account. 3
WETY CHENCY TROD EMMo afwzlys cmsesmd weesofm wde |
Point out the different aspects involved in food sanitation. 3

TR OTIFOTR X3 AT O Aerofl TR oerme ST |

51 MB 21 HSc (N) 5 Contd.
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21,

22.

23.

24,

25.

26.

27.

State any three demerits of home- made garments. 3
7FR Efg’Y $FR TMCE XRDRAE wqwg’ .

Draw a neat diagram of dry cleaning pump. 3
s stes ges mefefm wwt Ok =°m |

List down the special precautions needed while removing stain on woolen

fabric by using chemical reagents. 3

XA Efe’sr X3 @meees™ BeRfmeR aforesoln ofzfeesn ERYERT
wrofc Zgoofme k7 |

How will you meet the food needs of adolescent boys and girls? 4

TANT ReR4Eme’s TIR® TROU giwRolmy xieiral reme ©HSR
mewe E BTl ?

What problems consumers face while obtaining consumer information? 4

mezReT Rafdts F-msoln X Rfesr meckolit Tmes %R mXeson
or wel mafc ?

Suggest the different precautionary measures needed during storage of
clothes. 4

Efe’S mxC I#F Res FRAmEs $aT sy wewofe Fenofo $osl
Explain any four characteristics of children’s play. 4

Tanmime decs mreersafopir wefrr ozrme 5w |

51 MB 21 HSc (N) 6 Contd.
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28. What is interest in early childhood ? Elaborate any three common interest

during this period. 1+6=7

&t Cals Too oies meft ? XA STETr TOtl CINE THRR
®X ®xe w7 ||

29. Why do we need to plan meals ? Give any six reasons. 1+6=7
TRt Y e mafr! FTRefsc ? weR sgmwe R

30. Analyse the general characteristics of resources. 7

afer’soml zeay EeaeTslopiroil Tn otrRTe ST |

51 MB 21 HSc (N) 7 -G
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SCORING KEY FOR H.S.L.C. EXAMINATICON 2019

Subject: HOME SCIENCE

Q.No.

Key

Mark
for
each
point

Total
Marks

Fat, protein. and fibre. (Any two points)

¥ each

Resource is the means that help in fulfilling the needs and
attainingthe goals.

1

To protect from cold, heat and danger. (Any two poihts)

¥ each

Common stock and preferred stock.

1

Digestive problems, swallowing difficulties, post operative
cases,fever, when patient not able to eat solid food.

C. Bodily

B. Expenditure

.

A. Out

C. Wooden or Plastic vehicle

D. Maximum

—t | b | s

Harmful effects :-

1. Terrifying programmes may affect psychological condition
by causing nightmares, nervous, tension, loss of sleep,
poor appetite.

2. Gets little or no exercise for normal healthy physical
development.

1 each

Nj—= | 2] 2| ]| ] -

12

Food guide :-
Directs selection of food and quality consumed to provide

foundation of adequate diet.
Or
Food and Nutrition education tools that help consumers

select and eat food that provide them with adequate
nutrition to maintain health.

R.D.A.(Recommended Dietary Allowance). Forms the
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13

Changes occurring to fruits and vegetables can be
retarded by low temperature and cool dry place storage.
Can be kept for longer period by keeping inside plastic
bags and putting in the crisper ofthe refrigerator.

14

Social qualities :-

i) Activeness, ii) Obedience, iii) Cheerfulness,
iv) Politeness, v) Kindness, vi) Co-operation,
vii) Honesty, viii)Loyalty, ix) Bravery.

(Any four points)

1y each

15

Pamphlet :-

Contains many pages, treats a number of topics or steps
in a given problem

Leaflet :-

Single sheet of paper folded to make a four page piece of
printed matter, may print on one Ode or both sides. It gives

accurate and specific instruction about the functioning of
the product.

1 each

16

DIAGRAM

Sleeve Board

17

Steps should be taken to reduce unpleasant emotions to
a minimum by preventing :-

i) Fear, ii) Anger, iii) Jealousy whenever possible.
Elaboration on these three emotions.

1 each

18

Method of ironing silk saree :-

i) lroning when the fabric is evenly damp.

i) No sprinkling of water as it leaves water marks.
i) If dry, wrapping in damp towel before ironing.
iv) Avoiding excessive heat by testing.

Y, each
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v) lroning white silk on the right side for gloss. Dark colour
should be ironed on the wrong side.

vi) Should iron till dry or else creases will reappear on the
damperred portion.

vii) Tussor and eri silk should be ironed on right or wrong
side according to their colour and surface finish.

viii)Cultivated silk should be ironed when evening damp to
get uniform and smooth finish. (Any six points)

19

Current account :-

Higher minimum balance, unlimited withdrawals by cheque,
Lower interest.

Fixed deposit account:-

Fixed period. Higher interest than current account. Cannot
withdraw money before stated period.

1%

each

20

Aspects of food sanitation:-

i} Maintenance of clean premises.
i) Health and cleanliness of people who handle food.

iii) Provision of potable water supply.
iv) Cleanliness in handling and storage of raw materials.

V) Prevention of contaminating the foods at all stages of
preparation either equipment or personnel.

vi} Cleanliness in serving food.

vii) Safe disposal of food wastes. (Elaborate any six
points)

Y each

21

Demerits:-

i) Requires more time, adequate equipment and space,
need more energy.

ii) Needs to know the techniques involved in sewing.

iii) Should possess proper skill in choosing design and
construction, otherwise looks unfinished when compared
with readymade garment.

iv) Finish less appealing, completed garmeni may be
disappointing.

V) Needs special equipment for special finishes. (Any three
points)

1 each
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i) Sometimes information not available, pamphlet needed
is out of print. '

ii) Printed information provided is in a language not
understood by the consumer.

iii) Some leaflets and forms are written with difficult words
and in a style not understood by the consumer.

22 | DIAGRAM 3
DRY CLEANING PUMP
23 Special precaution:- ' 1 each
i) Chemical reagents used should be in dilute form.
Several applications of dilute solution less harmful than
single application of undiluted reagent.
ii) If bleaching required, then only hydrogen peroxide in |
dilute solution. '
iii) Must rinse in cold water several times after treatment.
24 Food needs:- 1 each
i) Amount of foods listed in the food guide for Indians
should be included inthe diet. '
ii) Boys need to consume more energy rich foods to
provide sufficient energy.
iii) Girls need foods rich in protein, iron and other nutrients
necessary for synthesis and regeneration of red blood
cells.
iv) Any deviation in their weight for the weight and body
build should be identified and corrected.
25 Problems:- 1 each
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iv) Consumer not careful in keeping important
document,such as, guarantee, service instruction etc.
Hence information not available when needed.

26

Precautionary measures:-

i) Repellents like dried neem leaves, naphthalene balls,
odonil etc can be used. '

ii) To protect woolen clothes from moth’s attack wrapping
woolen clothes with newspaper.

iii) As some clothes can be crack at folds if stored for a
long time changing folds is needed.

iv) Starched clothing should not be stored for long.

v) Soiled clothed should not be stored as stains become
permanent and easily attacked by moths, insects,
mildew.

vi) Should not store in damp condition.

vii) Cupboard or storage box should be lined with
newspaper or old clean cloth.

viii) Storage should be done in dry condition.

¥ each

27

Characteristics:-

i) Play follows a pattern of deveiopment.

ii) Play influenced by tradition.

iii) Childhood play changes from informal to formal.

iv) Play activities decrease with age.

v) Time spent in play decreases with age.

vi) Time spent with specific activities increase with age.
vii) Play is less physically active as child grows older
viii) The number of playmates decreases with age.

1 each

28

Interest:-

It is the feeling that the child has when he wants to know or
learn about something.

Three common interest:-

i) Interestin religion.

ii) Interestin the human body.

i) interestin self.

iv) Interestin clothes. (Elaborate on any three points).

1+6
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29

Meal planning :-

To provide nutritionally adequate and likeable food on time.
Reasons:-

i) Balanced for all members of the family.

ii) Saves time, money and energy.

iii) Saves fuel.

iv) Variety in meals.

v) Control on food budget.

vi) Tasty and attractive food.

vii) Use of leftovers.

viii)Personal likes and dislikes.

ix) The day as a unit. (Elaborate on any six points)

1+6

30

General characteristics:-
i)  Availability of resources to different families varies.

ii) Afamily may have skills and money whereas another
family may have only money and no skills.

iif) All resources are useful but a particular resource which
is useful to one person may not be useful for another.

iv) Resources can be replace each other. Time can
replace money or vice versa. Eg.- Can buy ready
made food instead of cooking to save time and.
energy.

v) Allresources are limited.

vi) Resources are seldom used singly. Eg.- Money alone
not enough to buy a household item. Knowledge about
the product, skill/ability to select, time, energy etc. are
equally important in buying an item.

vii) - Resources can be saved by proper planning. Eg.-

Proper planning in the kitchen saves time and energy
while cooking.

viii) -Resources of a family can be increased. Eg.- a portion

of the house can be given on rent to get extra money.
(Any seven paints)

1 each
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Total number of printed pages - 4 51 M B 24 Hm (N)

2019
HIGHER MATHEMATICS
Full Marks - 80
Pass Marks - 20
Time : Three hours
Attempt all questions.

The figures in the right hand margin indicate full marks for the questions.
For Question Nos. 1 to 5, write the letter corresponding to the correct answer.

1. If * is a binary operation on z defined by x * y = x - y, for all x,y €z, thenthe value
of(7*5)*2is - 1
(A) -1 |
B) O
c 1
(D) 2

2. If n is a positive integer, then the number of terms in the expansion of
(x+a)"is - 1
(A) n-1
B n
(C) n+1
(D) n+2

3 lfA=(a)mxnandB= (b,) nxp, then the order of AB is - 1
(A) mxn
(B) nxp
(C) pxm
(D) - mxp

Contd.
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4, The value of the expression sin 135° cosec 225° cot 315°is - | 1
(A) . 1
(B) 0
€ -1
1
(D) / V2
5. ‘ Two equal forces acting at point so that their resultant is equal to either of
them in magnitude, then the angle between them is - 1
(A)  45° '
(B) 60°
(C) 90°
(D) 120°
State principle of mathematical induction. : 1
Write the middle terms in the expansion of (a + x)". 1
1 4
8. Find the constant term in the expansion of (X - ;] 1
9. Give an example of row matrix which is also a column matrix. 1
10.  Define a recurring expression. 1
1. Isx+1afactorofx*+6x*+11x+6? 1
12. Whatis meant by a trigonometric equat'ion ? 1

13.  Find the resolved part of force euqal to 80 kg in a direction making an angle

tan (3/4) with its direction. 1
14. A binary operation * on N is definied by a*b = L C M of a,b. Construct a
composition table for the set S ={1, 2, 3, 4, 5} with respect to*. 2
1 7
15.  Find the 5" term in the expansion of (2x + F] 2

51 MB 24 Hm (N) 2 Contd.
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16.

17.
18.

19.

20.
21,

22.

23.

24.

25.

26. .

. ﬁ+_1_.g+57+'"+(2n—1)(2n+1): 2n+1

. i—2j
Find a 2 x 3 matrix [a;] where &, = (—2_1) . 2

Ifa+b+c=0, prove thata?+ b+ ¢c*=-2 (ab + bc + ca). 2

It A, B, C, D are angles of a quadrilateral then show that

1 1
coSE(A+C)+cosE(B+D)=O. 2
Define a geometric progression. Prove that the nt term of a G.P. is
a_=ar"'where the symbols have usual meanings. 3
If a2, b2, c2 are in A.P. prove thatb +c,c+a,a+barein H.P. 3
If ¢, denotes the binomial Co-efficient "C, prove that C; + 3C, + 5C,
Forerrrnnes +(@n+1)c =(n+1)2" 3
3 :
IfA=|5|and B=[104]prove that (AB) =B'A. 3
2 :
Find the value of x* - x* + x>+ 2, when x® + 2 = 2X. 3
) 1
Solvefore:cosze-sme=zwhen0se£2n. | 3

Let (S,0) be an algebraic structure with identity, in which o is associative. If x

and y are two invertible elements of S, then prove thatx oy is also invertible

and (xoy)'=y'ox". 7 4

Prove by using the principle of mathematical induction that vneN
1 1 1 1 n

4

Or

a® - b is divisible by a+ b

51 MB 24 Hm (N) ' 3 Contd.
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21.

28.

29.

30.
31.

32.

Fin the magnitude and direction of the resultant of a number of coplanar forces
acting at a point. Hence deduce the condition for equilibrium of concurrent

and coplanar forces. 4
1 -1 1 1 4
fA=(2 3 O0|B=0 2|C [ 3 1}
B . T |=2 4
3 2 -1 -1 1

Prove that (ABC = A(BC)

Or
IfA= [(1) 8} show that
Where I is the 2 x 2 unit matrix. 5
fx+y+z=a,xy+yz+zx=b
and x y z = C prove that
a’-3ab+3c=x3+y3+ 23 2]
Find the trigonometric ratios of (90° + @) in terms of those of ‘g’. 5

A circle is completely divided into n sectors in succh a way that the angles of
the sectors are in arithmetic progression. If the smallest angle is 8° and the
larest 72°, find n and angle in the fourth sector.

Or

A person borrows Rs. 32760 from a friend without interest and agrees to pay
back in 12 monthly instalments, each instalment being twice the preceding
one. Find the second, fifth and the last instalments. 6

Two forces P and Q acting at a point have a resultant R, If P is doubled, Ris
doubled and if Q is doubled and P is reversed in direction, even then R is

doubled, ShowthatP: Q:R=./6:/2:5 6

51 MB 24 Hm (N) 4 e
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SCORING KEY FOR H.S.L.C. EXAMINATION 2019
Subject: HIGHER MATHEMATICS

Q.No.

Key

Mark
for
each

point

Total
Marks

LS T S R

~ N B

10
11
12
13

14

(wiits Sl el @R~

Book definition
Book definition

ol B
Tr+1=(”“1y4c4x4 [';)

Then, 4-2r=0=r=2
The constant term = *C,= 6

21
Book Definition
Yes

| Book Definition

Given force =80 Kg

; Here, o =la.n"(%)

= Cosdz%

4
Required resolved part = 80 e 64Kg

Composition table

= Bis
(9]

10
15
20

th AW N =] *

B W N e

=N SRR [

o @ o ww
0

[S®]
a]
W

N T gy sy Sy e

e

N W S S S

— e e e e
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15

16

17

18

19
20

7
. 1
Here, 5" term in the expansion of (ZX + x—zj

1)
C, (2x)7'4 (_2_)
P
74 3.3 |
X
1
= 280—
XS
; [—27]
Given, a,-jsg-—J—)2
2
1 9 25
Then, a;,=—, ap=—, aA3=—
n, a5 2 1275 13575

a,, =0, a5 =2, a,=8

1/ 9/ 25
The required matric = {é é é}
Book result

Since, A,B,C,Dare in the angles of a quadrilateral,
Then A+B+C+D= 180

= cos%(A+C)+cos%(B+D)
= cos%(A+C)+cos—;{360°—(A+C)}

A+CJ

= cosi(4+Ch cos(l 80° -

= cos%(A+C)—cos—; (A+C)

= 0
Book result3
Since, a® b? ¢ arein H.P.
"[hen bl_al ___CQ_bQ
b-a c——b_
= b+c a+b

(b+(.')—(c+ a): (c+ a)—(a+b)
B+cXc+a) (c+aa+b)

1+1
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21

11 1 1

c+a b+c a+b c+a

1 i
" b+c c+a a+b

Hence,, b+c¢, c+a, a+b areinHP
LHS = C,+3C, +5C, +7Cy {20 41)C,
= {Cy+C,+C5.....+ C, }+ 2C, +2C, 43C;......+0C,)

= +2[-’1 c2n(=1) 3nl-Dfn -2).-...“,....................JJ}

are inA.P.

1’ 2! 3

e X +21{1 + .l (u-lXu-2)+ .......,............m......}

i/ 2!
- 2! +2.f-[co*l—lcl+.—lcz + +.-1IC,;-]

= 2" +2aQ+1)”

= 2"(n+1)

3
A=|s{ . B=h 0°4]
2
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Then,
1
pa=l0|p 5 2}
i 4
3 5 2
= [0 O 0
12 20 8
. (4B) =B
23 | Giventhat,
x*+2=2x
= - = TR Wiox, <SPt A S @)
We have,
e ext+2
= (lez—x.x2+x2+2
= @x-2F -x(2x-2)+2x-2+2 (by ()
= 4x2 —8x+4-2x% +2x+2x 3
2x% +4-4x
e 22x-2)+4-4x
= 4x-4+4—4x
% 0
24 " We have,
00526—*31'.’19:1
4
1~-sz'y129—sin(r)—l
= 4
— 4s5in*0+45in0-3=0
= (25in0+3)2sin0-1)=0
Fither sin6=- % which is impossible
4 1 T
Or, SlﬂB:E = Bzg 3

b4 T
i in® = sin— = sin| T——
Agam, Si szn6 ( 6)
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L
6
T 5m
p==, =—

Hence, Pl 1
25 Book result 1+1+1+1| 4
26 Let P(n) be the given statement.

Then,

1 1 | 1 n
P (1) et S L R — =
) TRET T B +(2n—lX2n+l) 2n+1 1
For n =1, We have
e e 2= L mE et )
13 3 2+1 3
LHS =RHS is true.
Let us assume that P(n) is true for n=k, then we have
1 1 1 1 k
Plh): —+—F——F i = :
€ 5t35t57t TRk Dek+1) | 2k+1 D

Let us prove that statement for n - k+ 1 we have to show

—1—+L+—+ + L + : = A

13 35 57 7 @k-Dk+1) RE+1)-1RGE+1)+1] 20c+1)+1 1

LHS = L+L+—1-+ + 1 + : 4

~ 13735 87 U Qk-1)2k+1)  RE+1)-1]2%E +1)+1]
= F g 1 by (i 1
2+l prr2-i]pkra+1] YW
k = 1
2k+1 Qk+1)2k+3)
= —1—[k+ l )
2k +1 2k+3
L 1 k@k+3)1
2k +1 2k+3
b 1 x(2k+l)(k+l) 1

2k +1 2k+3
k+1
T 2+
= RHS
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Hence, P(k + 1) is true, whenever P(k) is true.
Hence, by principle mathematical induction P(n) is
true for all ne N
Or
Let P(n):a® —b™ is divisible by a + b
. P():a*-b* isdivisibleby a + b
Hence P(1) is true..
Let P(k) betrue, ke N
=  Let ¢* —p* isdivisiblebya +b
= @ —b* = @+D)0 e (1)
Where Q is some function of a & b.
We hvae to prove P(k+1) is true.
ie. 20+ _p2k+) js divisiblebya+b
Now,
22650 _ p26+) =  a*q% _p*p?
{67 + @@+ b)o}a> -6™5> 9by (D))
= b*a? +(@+3)0a* -p*p?
= bz"(rz —bz}(a+b)Qa2
(@+b)§p* (@-b)+ Qa?}
= g2k+)_p26+1) js divisible by a + b
= P(k+1)is true.
Hence P(1) is true and P(k) P(k+1) is true
Hence, by principle mathematical induction P(n) is true
forall neN

27 Book result

28 Given that,

1+1+1+1
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Then,
1 -1 1 1 4 0 3
AB = |2 3 010 2| = |2 14
3 2 -1)j-1 1 4 15
0 3 3 1 -6 12
(4B} = |2 14 [_2 4] = |-22 58
4 15 -18 64
And,
[1 4} 5y -5 17
BC = 0 2 [ ] = |-4 8
-2 4 3
1-1-1 -5 3
1 -1 11(|-5 17 -6 12
ABC) = |2 3 0|-4 8| = |-22 58
3 2 -1{-5 3 -18 64
. (4B = A(BC)
Or,
Given,
R
1 0 01
Now,
al+bA = a[l 0}+b[i0 0} = |:a O]
0 1 10 b a
And,
5

(@l+b 4y ={Z SMZ 2] k {;:b aOZ}

RHS= a'[+3a’h4 =

|
S|
w
| —
O -
Ll =
—
+
(o
IS
L3
S
Seamar=r.)

(@1+b4) =a*1+3a’h4

LHS= (al+b4) = [“2 OZMZ 2] -

0 0f a@ 0
0 3a*h d°

a’ 0
3¢’ a°

|
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29 Giventhat, x+y+z=12a, xy+yz+zx=b, xyz=c
Now,
LHS = a3 _3ab+3c
= (x+ y+ z) —3(x+ y+ szy+ yz+ zx)+3xyz
(x+ y+ z) —3[{(x+ y)+ z}x{xy+ z(x+ y)}]+ 3xyz 1
(x+ y+ z) -3 xy(x+ y) z(x+ y)2+xyz+ zz(x+ y)—xyz} 1
= (x+y+z) -3(x+ y)(xy+ ZX+ yz+ 7_2) 1 5
= (x+y+z) -3(x+ y)[x(y+2)+ dy+2)] 1
= (x+y+z) -3(x+y)(y+z2fz+x} 1
= + v 4z '
= RHS
30 | Bookresult 1+1+1
+1+1 5
31 Leta,a+d,a+2d,...., a +(n—1)dbe the n angles of the sectors
By question, we have
g=ll | ket (i) 1
athi-I e adtieiiide (i1) 1
By (i) and (ii) we get
-1 =68 . ccmememiisned (ii1)
Also,
§{2a+(n—l)d J= 360° 1 6
1 . 5 -
= E{M +64 }: 360 1
40n = 360°
n=9°
And putting the value of nin (iii), we get
8d=64° = d=8° 1
The regd. angle in the fourth sectori.e. 8+@-1)8=32° 1

Or
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32

Since each installment is twice the preceding one, the
installments are in GP. with common ration 2.

Let a be the first installment.

Here,a=?, r=2, n=12, §;,=32760 we know that

o _af"-1)

o r-1
3!2]2—1!
S;p = 21
= 32760 = a x 4095
= a =8

And,2™instalment =ar =8x2 =Rs.16
And5%installment = 8x2°' = 8x16 = Rsl28
Andlastinstallment = 8x2'! = Rs16384

Let o be the angle between the forces P and Q

Then, R? = P2 + Q% + 2PQCOS O .vrvirrrerersenseres (1)
When P changes to 2P, R change to 2R.

= (2R)* =(2P) +Q? +2.2PQcosa

25 4R? = AP 0% + 4PQCORML sosissvssnssinssaossssiases (ii)
When P is reversed and Q changes to 2Q, R changes to 2R

= (2R} =(-P) +(2Q) +2(-P)2Qcos

=% A2 P D —APOQOBE ool misamsrsissnisssomruiss (iii)
Adding (ii) and (ii1) we have

8R? =5P7 + 5Q7

=5 GPL 3P BR? 2 voneereraossrssssosmsnssssnnssssmvemans (iv)

Multiplying (i) by (i1) and adding to (iii) we have

6R? =3P? +6Q°

25 PP TR ~IRY =0 s eveomnomnssissrsnsnass (v)

From (iv) and (v), taking by corss multiplication, we have
p2 Q? R?

-10+16 -8+10 10-5

2 2 RZ
= f—-zQ—=— P:Q:R = \/gﬁ\/g

6 2 5

[ S SO G —
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Total number of printed pages - 7 51 M B 23 Csc (N)

2019
COMPUTER SCIENCE
Full Marks - 80
Pass Marks - 20
Time: Three hours
Answer all the questions.

The figures in the right hand margin indicate full marks for the questions.

1. What is MS-Access ? 1
2. Give an example of a primary key. 1
3. Name a site that provides E-commerce facility. 1
4, Name the header file for the functions scanf() and printf() in C. 1
5. What is a pointer 7 1
6. What is a bookmark ? 1
7. What are AutoNumber and Yes/No data types ? ' ' 2

8. State two advantages of using DBMS. 2

Contd.



Instructions to Examiners of H.S.L.C. Examination 2019 114

9.

10.
11.
12.
13.

14.

15.

16.
17.
18.

What are modulation and demodulation ? 2
List two attributes of <FONT> tag. 2
Explain NAME attribute of Anchor tag. 2
Write the full form of HTTP and FTP. 2
Define a structure that can store the name, roll no., and age of a student.

2
(@) WhatisInternet? 1
(b) Howdid-Internet come into existence? 2

(@) What are web browsers and where was the first web browser
developed ? 2

(b)  Statethe role of Refresh in a web browser. 1
How does a search engine find information on any specific topic ? 3
Explain LINK, ALINK, and VLINK attributes of the BODY tag. 3
Rewrite the following program segment using do-while loop. 3
inti, n, sum=0;

scanf(“%d",&n);

for(i=1; i<=n; i++)

{

sum+=pow(2, i);

if(sum > 100)

break;

}

printf(‘\nSum = %d”, sum);
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19. (a) What are the advantages of E-mail ? 3
(b) Name any two sites that provide E-mail services. 1
20. (a) What are ordered list and unordered list tags of HTML ? 3

(b) What is the use of TYPE attribute of an unordered list ?
21. (a) Whatis ALT attribute of IMG tag ? 1
(b) What are the attributes of <HR> element ? 3
22.  Complete the following program to calculate the average of n numbers. 4
#include<stdio.h>
void main()
{
intn, count;
float x, average, sum=0;
printf(“How many numbers?”

scanf( )

for( count=1; )

{

printf(“\nx =“

scanf( | );

sum = :

)

average =

printf( );

51 MB 23 Csc. (N) 3 Contd.
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23.

24,

(@)
(b)

(a)
(b)

What are break and continué statements ?
What will be the output of the following program?
#include<stdio.h>

void main()

{

intn, *p;

p=&n;

n=10;

printf(“%d, %d”,p,*p);

}

Differentiate between container and empty elements of HTML?
Correct the following HTML code:

<HTML>

<BODY NOSHADE>

<HR SIZE = “5” THICKNESS = “50%"

THIS IS TO TEST KNOWLEDGE

<Mi>

<HTML>

</BODY>

51 MB 23 Csc. (N) : 4 Contd.
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25. (a)  Study the following C program :
#include<stdio.h>
Void main() =
int sum=, count=-1;

do{

count- =
sum=3*sum,;

}while(cou_hﬁl);

What will be the value of the variables sum and count after the execution of

above program ?

(b)  Define afunctionn that accepts two integers as arguments and retums

their product.

51 MB 23 Csc. (N) 5

3
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26. Write HTML code to generate a web page in the format shown below: 5

Planets of the Solar System

a. Mercury
b. Venus
C. Earth

d. Mars

e.  Jupiter
f. Satum
g.  Uranus
h.  Neptune
i. Pluto

To know about Sun Click Here

Special Notes
(@)  Title of the page should be ‘Universe’.
(b) Background colour of the page should be ‘Yellow'.
(©) Fontiace in the page should be ‘ARIAL’.
(d)  Textcolour of the main heading ghou|d be ‘BLUE’.

(e) [.ink colour should be ‘GREEN’, Visited Link colour should be ‘RED’,
and Active Link colour shout be ‘BLUE’.

51 MB 23 Csc. (N) 6 ! Contd.
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27.

28.

4

()] Page linked with

Mercury as ‘mercury.htm’
Venus as ‘venus.htm’
Earth as ‘earth.htm’
Mars as ‘mars.htmy’
Jupiter as jupiter.ntm’
Saturn as Isaturn.htm’
Neptune as ‘neptune.ntm’
Pluto as ‘pluto.htm’

Click Here as ‘sun.htm’

(9) Bottom message should be center aligned and with font size ‘4”.

Write a C program to reverse a given string without using the library function
strrev(). 5

Write a C program to find the sum of two matrices. 5




Instructions to Examiners of H.S.L.C. Examination 2019 120

SCORING KEY FOR H.S.L.C. EXAMINATION 2019
Subject: COMPUTER SCIENCE

Q.No. Key Mark | Total
for [Marks
each
point
1 Database Management System (DBMS) 1 1
2 Example : Rollno is the primary key for the students of a| 4 1
particular class.
3 Example: www.amazon.com 1 1
| stdioh ' ' 1 1
5 | Pointeris a variable that refers or points to another variable. 1 1
6 A Bookmarkisalinktoa \A{eb page so that we can have a 1 ’
quick and easy access to it later.
7 Auto Number data type: It stores an integer that is

incremented or decremented automatically as youadd or| 1
delete records.

Yes/No data type: it is known as’logical type data that can .
have only one of the two values, i.e., True or False. 1
8 Example : (any two points from the six points giveninthe| 4
text book.)
Databases reduce the data redundancy to a larger extent. e
Databases facilitate sharing of data. 1
9 Modulation: The process of convertlng a digital S|gnal to| 1
analog signal.
Demodulation: The process of converting an analog signal 2
to digital signal. 1
10 Any iwo from : SIZE, COLOR, FACE 2 2
11 | The NAME attribute allows the anchor to be the target of a
link. 5

This attribute can be used when a link has to be created to
a certain text on the same page or the text needs to 1
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be referred to by another document. The value of the
'NAME attribute is an identifier for the anchor and this must
be unique. . %

12

HTTP: Hypertext Transfer Protocol.
FTP: File Transfer Protocol.

13

struct Student

{

char name[30];
int rolino, age;

k

14

Internet is an interconnection between several computers
of different types belonging to various networks all over
the world.

In 1969, the Department of Defence (DoD) of United States
of America started a network called ARPANET. It was
started with one computer in California and three in Utah.
Later, the military allowed Universities to join the network
forsharing the hardware and software resources. Then it
grew bigger and gave birth to the present-day very popular
Intermet.

15

Web Browsers are software packages that display web

pages containing text, graphics, audio and video files, and

links to various other web pages.

The first Web Browser was developed by the National
Centre for Supercomputing Applications (NCSA) at the
University of lllinois at Urbana-Champaign.

Refresh: Reloads the page from the web server.

16

Search engines broadly consist of three components: the
crawler, the index, the search algorithm.

Crawlers, also called spiders, are programs that
automatically scan web sites and create indexes of URLs,
keywords, and links. How web sites (or pages) are selected
depends on how the crawler is set up.
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When a user submits a search query, a software working
on the engine’s algorithm goes through the index to find
web pages with keyword matches and ranks the pages in
terms of relevance.
17 LINK defines the colour of the unvisited links in a document.
The default colour of LINK attribute is Blue.
ALINK defines the colour of the link as it is being clicked. 3
The default colour of this attribute is Red.
VLINK defines the colour of a link after it has been visited.
The default colour of this attribute is purple.
18 inti,n,sum=0;
scanf(“%d”, &n);
i=1;
do
{
sum+=pow(2, i);
i++; 3
if(sum > 100)
break
;Jwhile(i<=n);
printf("\nSum = %d”, sum);
19 Advantages:
Speed - an e-mail is a far quicker means of
correspondence than ordinary postage. A message can
reach any part of the world in a fraction of a second.
Content -the message may consist of only a few lines
of text or of several hundred lines. Unlike the postal service,
the message is not charged at all. Receiving Messages - ‘
4

we need not be at our computer all the time to receive a
message. The message is stored by our service provider.
It will deliver the message to us, when we ask for it.
http://www.hotmail.com

http://www.rediff.com

(or any two website providing e-mail services)
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20

An ordered list defines a list in which order is taken into
account and is enclosed by <OL> and </OL>. Ordering is
rendered by a numbering scheme,using Arabic numbers,
letters, or Roman numbers

An unordered list is used for lists of items in which the
ordering is not specific and is enclosed by <UL> and </
UL>. The listitems are defined by using the listitem element
<Ll>.

TYPE attribute specifies the type of bullet that will be used
for each list item.

1.5

1.5

21

ALT - This attribute is used to give alternate text that will
be displayed in place of the image.
The attributes of <HR> element: SIZE, WIDTH,
ALIGN, COLOR,
NOSHADE

22

#include<stdio.h>
void main()
{
intn, count;
float x, average, sum=0;
printf(“How many numbers?”);
scanf( “%d”, &n);
for( count=1; count=n;count++)
{
printf(\nx=");
scanf( “%f”,&x );
SUM=sum +X;
1
average =sum/n;
printf( “\nAverage = %f’, average );

}

23

break: Abreak statement essentially occurs within a switch
block or an iteration block. It passes the control to the
statement following the last statement of the closest iteration
or the closest switch statement.
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continue: A continue statement essentially occurs within
an iteration statement. The continue statement leaves out
the execution of the set of statements following it and
transfers the control to the loop controlling expression of
the iteration it belongs to.

Output: address where the value of the variable n is
stored/of the memory location of n,
10

24

In HTML, elements that include both an ON and an OFF
tag are called container elements.

‘HTML elements that have only an ON tag but do not have
a corresponding end tag or OFF tag are called empty
elements.

<HTML>

<BODY>

<HR SIZE="5" WIDTH="50%" NOSHADE>
<H1>THIS ISTO TEST KNOWLEDGE
</H1>

</BODY>

</HTML>

25

sum:3,
count: -2

int productfn(int x, int y)
{
inttemp;

temp = x"y;
return temp;)

}

26

<HTML>
<HEAD>
<TITLE>
Universe
</TITLE>
</HEAD>
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27

<BODY BGCOLOR='YELLOW’ LINK="GREEN’

VLINK="RED’ ALINK="BLUE">
<BASEFONT FACE='ARIAL>
<FONT COLOR="BLUE’>

<H1><CENTER>Planets of the Solar system</

CENTER></H1>

</FONT>

<OLTYPE=a'>
<LI><AHREF="mercury.htm’>Mercury</A>
<LI><AHREF="venus.htm’'>Venus</A>
<LI><A HREF="earth.htm’>Earth</A>
<LI><AHREF="mars.htm’>Mars</A>
<LI><AHREF='jupiter.ntm’>Jupiter</A>
<LI><AHREF="saturn.htm’>Saturn</A>
<LI><A HREF=uranus.htm’>Uranus</A>
<LI><A HREF="neptune.htm’>Neptune</A>
<LI><A HREF="pluto.htm’>Pluto</A>
</OL> >

<HR NOSHADE>

<FONT SIZE=4>

<P ALIGN="CENTER’>

To Know about sun <A HREF="sun.htm’'>Click Here</A>

</P>

</FONT>

<HR NOSHADE>
</BODY>
<HTML>
#include<stdio.h>

#include<string.h>

voidd main()

{
char str{30], temp;

inti,j=0;
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printf("\nEnter the string :");
scan f(“%s”,str);
i=0;
j = strlen(str) - 1;
while (i <j)
{
temp = str{i]; 5
str]i] = strfj]; '
str(j] =temp;
i++;
I
}
printf(“\n Reverse string is :%s”, str);
}
28 #include<stdio.h>
#define ROWS 3
#define COLS 3
int main(void)
{
int aMatrix[ ROWS] [COLS]={{1,2,3},{4,5,6}, {7,8,9}};
int bMatrix ROWS][COLS]=({4,5,6},{3, 2, 1},{9, 8, 7}};
int cMatrixf ROWS][COLS];
inti, j;
for(i=0; i< ROWS; i++)
for(j=0; j<COLS; j++)
cMatrix[i][j] = aMatrix[i][j] + bMatrix[i][j]; 5

printf(“Sum of the two matrices : \n”);
for(i=0; i<« ROWS; i++)
{
for(j=0; j<COLS; j++)
printf(“Zed “, cMatrix[i][j]);
printf(“\n”);
}
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Total number of printed pages - 7 51 MB 22 Com (N)

2019
COMMERCE
Full Marks - 80

Pass Marks - 20

Time: Three hours
All questions are compulsory.
The figures in the right hand margin indicate full marks for the questions.

For question 1 to 5 answers may be limited to 30 words.

1. In an insurance contract, what does the first party do to the second party ?
2
reoaeeom’ HCRETY TR GATs wiesic wefnz wesfz mal
FEme ?
2. Name the two important types of an offer letter. 2

Cer XM "EWHE RN iR ®RD IS |

3. What information would a Government require from the business ? Mention
any two. 2
THEREY ©RE (ZioeosT! maws Re’Y MRS TefR Rems |

4. How is a business activity an integral part of a society ? 2
ws mawe 3ffem weretilsfze oref Cremm REgE ST Tk
w’rafse ?

B. Point out two situations under which a seller may reject the complaint of a
buyer. 2

WERE EFFR W4 7E3 OrRe 3 afs TR ERIETY TR RETSs 7RI,
wew ool TS |

Contd.
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10.

11.

12

13.

Answer for Question Nos. 6 to 11 in about 40 words.
Give the importance of banking and finance in business. 3

smmtn TRom Extemt sflems Tefs keess kool maf mefe
T |l '

Show the conditions that a bank may take up if the loanee party makes a
default in payment of hypothecation loan. 8

AT rEoes 2t Fafs masl TRe o oflFr TORS RNasH
somre mef ¥©3 7T SME |

State three conditions under which insurance is required to be taken. 3
BEF WEFS FOR RCOSTO TR, RSD TAFR T TS |

What is the meaning of financial statements to a sole trader? 3
0’7 PERE THRA ERCIAORT QFswTs A%am mafs ¥ omaTe ?
Show the three broad catagories of industries with example. 3
sepgope! TR RETHE EePTal TAFR ERET SRCC 4 |
Why is the encashment of a specially crossed cheque, difficult in 2 bank?

g
omeofree! mg'® Yo% TRT Tk FIIS 7 BT TOR KR D THE
rmeets mal wawme ?

For Question Nos. 12 to 16 answers may be limited to 60 words each.

A machine was purchased for Rs. 1,560,000 on 1 st of April, 2016. It was
depreciated at 10% p.a. How will these represent in profit and loss account
and in the balance sheet at the end of the year? 4

weral S, 80%¢ ® ¢ $,70,000 W3 ®XIT Tk e | ®KR XR AR
g0 ™ Wmxr (80%) Wma*foo!’n% 5 | TR THasH XA T AER
WMEEl4 TTR &M TMKCLH WHROD F°TTO ONES EERC RTare ?
Explain the four objectives of establishing Reserve Bank of India. 4

afZas sUT Ce FealR efmwsws Mean wefa OTrme SIS

51 MB 22 Com (N) 2 Contd.
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14, Why is it said that order letters form the central part of business
correspondence ? 4
Ceramd slzfofme sfefeom! mawss xlofel Axcals mafrle?

15.  Point out the importance of preparing a Profit and Loss Account by a sole

trader. ' 4
o’ PERE TRC WIEE¥ TROD £ CTENTY TR O30 HTTR
E TS

16. Calculate Gross profit and Cost of goods sold from the following : 4

(@) Net sales - Rs. 6,00,000

(b)  Gross profit - 25% of cost.

R Reroln Tofrd Te'o EEY TROD @Y TE TRO OFR
WL TS

(@) T MIM-— T :€,00,000

b) TE'® meEts - mosEl xR 87 §¢%)

Answer and solutions for Question Nos. 17 to 18 should be given as required
in the questions.

17.  Referring to your text-book, explain the procedures of opening CurrentA/C
and Saving Deposit A/C in the bank. 8
FTOSTE’ KPUREE, SOT® WaTs TEWes Thom 30 wiwC 2l
THEECY WERC AURTERT AREE OTROUT ST |

18.  “Anagreed Trial Balance may include errors not shown outwardly.”

Based on the above statement, point out four important errors with
examples, inspite of the agreement of trial balance. 8
“REeas PERTA FTTO TKR, ROTH S4$C THCE nEEHs BB I

wxmmEl Re's Tl EAET S ReC TS RAf® TIE TPT ST |

51 MB 22 Com (N) 3 ‘ “Contd.
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19.

20.

21.

22.

23.

24.

25.

26.

Answer for Question Nos. 19 to 28 may be as short as possible.
What is meant by ‘auxiliaries to trade’? 1
‘TelelRal » paeR Axam BWETE ¥ CET 7

What is the type of enterprise owned partly by the government and partly by
private enterprise? 1
WEEET THOD STk FEPETLERCC WET NTHKE FEPAMERT TRE,
me! wlewe °

Why is premium paid in an insurance contract? 1

Sl

i

ROOEEN HEpaeT¥ Ghe Teatrize mlfeasof mef meEmfe ?

In which side of profit and loss account, will interest on Drawings be shown?
1

Ye'El% GROm coml meFs gE Aol TR SR ?

Give entries of the following transaction

“Salaries remained unpaid Rs. 5000”. 1

wrm ggEemme wolif oepal wmig

ordal MfA®E coam — g: ¢000 |

What is the main purpose of issuing travellers cheque by the bank? 1

Fmme geereaom! WRT ) Falsol mEws CHITS REwTe?

Point out a difference between Whole Life Policy and Endowment Policy. 1

Z3 2% Wlelofn CreRsRTs Welofr maf Xoeesr, ThY ST |

Why shall we care about the language of the Enquiry letter? 1
ERet Xzl ©F SR Ke'Ioln or xewoferase! Asof mefrie’?

51 MB 22 Com (N) 4 Contd.
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27,

28.

29,

30.

What is the reason of preparing a Final Account ? 1
ERCy CrENes Tk oafsol mal mawmfe’ ?

Give reason why Marine Insurance is not popular in the state of Manipur.

wOTE Ops Feafe Remeeee yireaafsol mel wRewe ?

To answer Question Nos. 29 to 34, choose the correct alternatives and re
write.

In Marine Insurance, the insurer company is also known as " 1
reefe Kemeeeomy, seoes mrmel TR AR T
(A)  Indemnifier
sereRelER e
(B)  Underwriter
TEREE KPE

(C)  Hullor Ship insurer
ofm Te A seoe

The insurance policy taken to get regular income after completion of certain
year, is known as 1 : 1

CETTE XA T, I O SIS 3F SCHEF WEE K@ Roime F
remeey el TRy ARC ®& |
(A)  Joint Life Policy
Tes ere W efoof
(B) Endowment Policy
PERSRTE S cfoolf
(C)  Annuity Policy
weefsss! W efof

51 MB 22 Com (N) 5 Contd.
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31.  Balance Sheet records only . 1

Faem ofy ore efmer Fafs ool sef

(A)  Real and Nominal accounts
efey TROE TR THENEY
(B) Nominal and Personal accounts
CRiTT TROD TRE T T EHWeX
(C) Personal and Real accounts
WMew'ed TROD 87 THESeS
32. = Cheques are generally crossed for s 1

T Ok ma® satsof I

(A)  security reasons

wemolesm wewel
(B) company payments
mwwefm! smiesel
C) quickdelivery
zr wlesef
33. Mode of payment refers to . 1
"R CE WHRTY ARET gl

(A) credit facilities
menfsml Wees E AT,
(B) details of goods ordered
Cre RS WK RARRT
(C) settlement of accounts

G HNCY (IR ITIT,

51 MB 22 Com (N) 6 Contd.
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34. L.I.C premiumm paid will be recorded in S 1
o, ©x. of. ™ matwire izl wa afm'er smrsel |
(A)  Profitand Loss Account
MEEd TTR €0 TEWCS
(B) Balance Sheet liability
Feem ofg exweslelsin
(C) TradingAccount
PRI CHNEY

51 MB 22 Com (N) 7 Contd.
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SCORING KEY FORH.S.L.C. EXAMINATION 2019

Subject: COMMERCE

Q.No.

Key

Mark
for
each
point

Total
Marks

a) To make good of the losses suffered to the second
party

b) It may be in cash orin kind

c) Firm offer
d) An offer without engagement

a) Amount of sale
b) Amount of Profit
(c) Or any other correct point

(a) Production of goods and services for the consumers.
(b) Exchanges, transfer, storing and monetary help etc.

(a) If the consignments are not properly checked.

(b) If the deficiency found is not informed quickly to the
supplier and confirmed it.

(a) Financial assistance in business

(b) Help in foreign exchange.

(c) Helpin Export and Import.

(d) Assistance and guidance in running business.
(Any three)

(a) Stock/Security may be taken back.
(b) Items may be resold to recover the loan amount.
(c) Legal Proceedings may be taken up.

(a) For life as a saving/security.
(b) For protection of house/building etc. against fire.

(c) For protection of the vehicles and making payments of
third party claims following motor accidents.

Or any other correct point)
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9 Financial Statement relating to sole trader:
(a) Income Statement 3 4
(Trading A/C and Profit & Loss A/C)
(b) Position Statement Balance Sheet
10 | (a) Primary industry
b) Secondary Industry | with examples for each type of industry 3 3
c) Tertiary industry
11 (a) Selection of particular bank
(b) Cannot be taken easily at the counter. 3 3
(c) Verification is quite essential.
12 Dr Profit and Loss A/C Cr Balance Sheet
To Dep. 15,000 Liabilities | Assets
Machinery 150000 || 2+2 4
Less Dep. 15000
135000
13 Four objectives which are to be written:
(a) Regulation on issue and circulation of Currency Notes.
(b) Control and regulation of Financial operation of the Govt.
(c) Organising and controlling the system of Commercial
banks
(d) Banker to banks and the Govt. 1x4 4
14 | To be explained the need and importance of order letter. 4 4
15 | The need and advantages of Profitand Loss A/Cistobe | 4 4
written (as given in textbook)
16 | With correct calculation in any method:
CP+P=S S-CP=P
100 +25 =125 125-100=25
Now, When S P is 600000, GP = -£ x 600000 =120000 | 2+2 4
Therefore, Cost of goods sold = S - GP = 480000
17 | Students have to follow the procedure given in text book.
Application, Photograph, Introduction, Signature and 8 8
opening it.(Explanation of each point should be made
clearly).
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18 | Here, students have to answer by mentioning the four errors:
(a) Error of Principle
(b) Error of Commission 4x2 8
(c) Compensating error
(d) Error of Commission
Meaning and examples are quite essential.
19 | Activities which are used to assist the different business | 4 1
activities
20 | Joint Sector enterprises 1 1
21 | Premium is paid to the insurer by the insured monthly, half | 4 1
yearly or yearly to make the insurance alive.
22 | On the credit side of the Profit rofit and Loss Account. 1 1
23 | Salaries A/C Dr 5000 ] ’
To Outstanding Salaries A/C 5000
24 | To ease the risk of carrying of big sum in journey 1 1
25 | Whole Life Policy Endowment Policy
(Money paid after death) (Money paid either ondeathor | 1 1
maturity whichever earlier)
26 | Ifthe language is pleasing the reply may come quickly and 1 1
promptly.
27 | To find out Gross Profit, Profit and Loss Account and | 4 1
Financial Position.
28 | Far off from sea or there is no good water ways. 1 1
29 | (B) Underwriter 1 1
30 | (C) Annuity Policy 1 1
31 | (C) Personal and Real A/C 1 1
32 | (A) Security Reasons 1 1
33 | (C) Settlement of Accounts 1 1
34 | (A) Balance Sheet Liabilities 1 1
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